
INTERVENTO DI RECUPERO E TRASFORMAZIONE DEL 

COMPLESSO DENOMINATO "EX MATTATOIO" IN PORTA DEL 

PARCO, COMPRENDENTE UN ECOMUSEO, UN PUNTO 

INFORMATIVO, UN PUNTO RISTORO, BIBLIOTECA AMBIENTALE 

E SALA MULTIMEDIALE

Responsabile del procedimento Ing. Pierluigi Fiori

PROGETTISTA
arch. Pietro Paolo Lateano 

 Data: Maggio 2012

RELAZIONE TECNICA 

DEGLI INTERVENTI

TAV - 22   REL - 01

PROGETTO ESECUTIVO

Provincia di Roma

Comune di Anguillara Sabazia

Parco Naturale Regionale di 

Bracciano e Martignano

COLLABORAZIONE PROFESSIONALE

arch. Andrea Brenci

arch. Oretta Lisi

arch. Alessandra Tolfa

geom. Raffaella Canfarini

CONSULENZA PER LA PROGETTAZIONE 

ESECUTIVA DEGLI IMPIANTI E DELLE 

STRUTTURE

ing. Aldo Fornai 

ing. Andrea Trabattoni

COMMITTENTE: ENTE PARCO NATURALE REGIONALE DI 

BRACCIANO-MARTIGNANO



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�����������	
��

����
����� ���!��
∀�#∀��∃��%�!! ��&��∀∃∃�∋( )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗

�+�∀∋,− %
 ��∋∃&��∃&
∀�&���∃�

∀∃&
∀ !���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))).

�+)�� �	��/	�/�������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))).

�+)+�0�	����	�����������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))).

�∗�%���
∀(∀&∋��%�!!&��∃ ∃&�%∀�1 ∃∃&)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))2

�3�
�4∀���5∀∋�&!∀�∀∃�&�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))��

�3)��,�����������
��������	
��∃�
��	

��
	/���	�!�6���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))��

�.�!�∀∃�
��
&4�∃∃− !��)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))�2

�7�∀∋%∀
∀((∀��
&4�∃∃− !∀))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+∗

�7)��∀���	/����	
����/	���8�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+3

�7)+�1��6�����	����	���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+3

�7)∗�∀
���������������	�
	���	��	����	�6	))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+.

�7)3�∀�����9	//�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+.

�7).�!:����;������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+7

�7)7�!����������	
������8���
����	�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+7

�7)<�!����������	
������8��
��=�=
���	�����=�	���
	>�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+<

�7)?�!����������	
������8��/
����������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+?

�7)2�!���	��	��	���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+?

��	�	���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))+?

4
�����6��	��	����;�!��		����/	����
��)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗≅


	�
�66�6���	���		��	�����9	�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗�

!�����	�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗+

�<�%���
∀(∀&∋���%�!!��� ∃�4&
∀��%∀�! 5&
∀))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗∗

�<)���������	
������>�
�����������	/���	����	������6����
�66�6���	�))))))))))))))))))))))))))))))))))))))))))∗∗


�Α��
�����6���	��	�������	���))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗∗

 �	/���	�����������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗∗

�����	�6���	�������������	�����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗3

 �	/���	�������6����
	)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗3


	���	�����������	��	��

��9	))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗3

 �	/���	�����������������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗.

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/������37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�<)+�0��>�
�����������	/���	����	������6����
�66�6���	�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗.


�Α��
�����6���	������	����))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗.

�����	�6���	�������������	�����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗.

 �	/���	�������6����
	)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗.

�<)∗�����	��6���	�	��	���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗7

&�	�	����	��	)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗7

 �		�	��	�����	������������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗7

�����	���6�����	��	��	))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗7

�?��∀∋∃��∀�%�!!��� ∃�4&
∀��%�∀�! 5&
∀)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗<

�?)���������	
������)�
�����������	/���	����	������6����
�66�6���	�))))))))))))))))))))))))))))))))))))))))))∗<

�?)+�0��>�
�����������	/���	����	������6����
�66�6���	�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗?

�?)∗�����	��6���	�	��	���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))∗2

�2�%&�−��∋∃ (∀&∋��1&∃&4
 1∀� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))3≅

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

������������	�
�����
��������

�������������

!:	��	 � ����� � 
	/����
	 � �� � 0�������� � 	 � �����/����� � ������	��	 � �

: ���������6���	�

������
	��� � �/��

������=�6������ � ���������� ���������� ��� ������	��	��� � ���6�����	���
�	��

��

�������������	
�	� 
��
�������
��
����	
	
�
���������
����	
�	��	 
��		
���
	

	� � �	������/
��

�=�	������
	�����
��Β�	�
	��6�������	����	��	
����/������&�	�������
	/����
	�1��
�!�6���+≅≅<;

+≅�∗ � � � &=�	����� � ����	�������Β � 
	/����
	 � 	 � &�����6���	� � ��������� � ��
 � �����/
���


	/����
	��	
�!�6�������%�
��)∗2��	
�∗�����
	�+≅≅<�	������������	

���	�����	��	��������������

%	������	��	

������������	��)���+≅≅<��3.?3��	
�+Χ�≅Χ+≅≅<)

∀
����/	����������
������	

:��	��9��������������
:��;��������������
	���������
��	�	�/	�6	����

������
/	�	��	

	��������Β������Α��
�����6���	�	���
���66�6���	)

∀
������	������	
������	��

�����/	���6���	���	�����������

:���	�������∋�����
	�
	/����
	�

���0���������	������/��������������	��	��	

	���	�	���������������/
�������������������������
��

���	�����	
�� 
���
����
�
�	� 
������� 
�����
��
���
�
�� 
�������	���
	�
 �����������	
�	� 


���
	���
��	
��
	���
������	�	
��

	���
�����
��
����	
��
�	�
��
��	
�	����������
	
�������
� 


����
��� 
 ����������
���� 
	 
 ��� 
 ���
���� 
 �	����
������ 
�� 
 ���
� 
 	�	��	
���	 
 ����������� 
 	 
 �	��	 


���	��	

	�������	
	�����
	�������
�����	�
�����
��
	�
���
����
�	�
��
��������	
�	�

	���
���� 


�����	
��
�	�
����
	��
������
���
�
��
�
��
��
����
��
	������	
���
���	���
������
��
���
� 


���
����
������
��
 !∀#�∃ ∀�
%�	�
���
���
����	�&
�����
������	�����	
�	�
 ������ 
�� 

��� 


�����

���
�	���	∋
��

�
���
��
����
��
��
	�	��	
���
����	
	�
	���������
(���
	��
����	

�
) 


�����
�
����
��������	
�	�
������
���
��
�����
��
	���	�����	
	
����������	
�
��
��
�
�	�	�
�
	
�	
���
� 


��
	�	����
	�������
������∗

∋	

����	����∆�����	������	
������	:��	�/�����	�����	�
	���������������������� ����  ��!���∀�

+����	�
�	���
�∀,�−
. (
�−,!∀
����	
�����	���	���
��
��	��	
��
�����
��
���
����	�
	
� 



	���
�����
	�������
	
���	��	

	�������	
�������
���	�
��	
��
�����
���	���
��
���	�
� 



����
��� 
	 
 ���
����	� 
  ��� 
�	��	

	�& 
�� 
 ����������	 
 �	 
 ������	 
 �
�����	 
	 
����	�
���� 
 ��� 


�����������	�
�
��	������
�	�
�

	��
�	��
���
�����
������
�	��	
��/�	
�	�����
	��

	���
����
	�
�� 


���
������	 
 �	� 
 ����	 
−����	� 
 ∃��& 
 �� 
 �	�
�� 
 ��	�
�� 
 ��
	��

���� 
 �� 
 ����
��	 
 �

���	��� 


�	������ 
 
	��
���� 
 �� 
 	��� 
 � 
 ���� 
 ����	�
� 
 0��
����	� 
 �
������ 
 	
��������� 
 	 
 ���	�
�����1 


����
�	������
�	���������
��
��������

��
��	�
�
&
������	�
	�������
	

������∗

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

∋	

���=��� � �� � Α�	��� � ����/����� � ��	������� � ���� � ����� � �������� � ��	 � �������� � �������9� � ���

���/	���6���	>� �
�������������������	��	����	��//	�����∀���	���� � ���� 
	���Α�	>���

����
��

5	��9����������/����8��Ε�����������������
�%���)�1��)�%��	����� /������)�

∀
��	�����������������������Α�	�����	
�6���	���	�	����������	������	�������	
�����/	�����	
�������

Ε�����������������

�������	��	����9)���	�������
��!��	����	��9�����	��//	���> �#������ �∃�

���%� �	 ���%���������� � �∃∃&�∋ ���������� ���()��∃� � �� � ���)��)�� � � ������� � �∃ �∗��%� � +∗)����

��!��(�������∗)������������� ��%�()���,−.

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�3����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�/���01������������������	�����������
���

�/.�� �����2��2��3����

4
� �	������ ��//	�����	

:���	��	������ ���� ��

����	�	��	��	
�6���	��� � ���������	
 � �	����������� �

 �/��

������=�6���������	��	

���������������
���)

����������

	��	�������	�������
���	
�/��������=�����������������	����	

��������
	�;� ��9	�

���/	�
	������	��	
�
�/�����0����������∀���/��	������
��	�������������
��������	����������3∗�	����

∗∗<��)��)
)�)

#���������	�����	��	��������
	����<3�2�Φ�Α)�	����������
�6���	��	���	��	�����3)+∗7��=������ �

��	����	����∀)�)∃) )∃)�+≅≅������������	����Β��=������������2≅�≅<��=ΧΓ�Α)�

!:���	�� � �	�������� �������
	 �Ε � ���	���� ��	
 �����
	��� ���
������� ��=������ ��9	 �����	����	�

�

:��	��
��������������
�/����	
������	������
�������	���:	
	������	���
��Β)�

!	 � �����6���� � �
������9	 � 	���	���	��	 � �����	��
� � 9���� � �	��	��� � 
:���	����	��� � ���

�����6��������	���
����/�/
���	��Α��
���	��	�	�������/�	���	���//	�	)

�/./� 4��5���������������

∀
����	���� �/��

�����	�������

����

�� ∋4−! 
∀ �����������	�Β����
���
�����

����9	������Η��
�


�/� � ��=��	�	� � �/�
������	 � 
� � ����//�� ��	� � ∆��	�� � ��	�� � �������:�� �
� � ��

� �	�� ��	����

∆��/�
����:�	���
��������
��	������	��������/�������;�∀���/��	�+�

!������������ �/��

����Ε����	����	��	�����	�����

	����	��	��	����/������9	�����	/���������	
�

�������	���	��
�)

∀
 � �����������	��� � �� ���� ������	 � �
 � ���	��	

� ���������� �Ε ��� ����� ��	
 � + � 
�/
�� ��≅+≅+��

�	

:���9���������)� ����������∃����	�	�	������������������	���	������� �/��

�������	����
���Ι�


:��Α����6���	��	
�����
���	���
	�Ε����	�Β���ϑ������)

∋	
��	���	���������	�����	

����

�������	��������	

��	����Α�	����
������Β>����Α��
�9	��������	
�

�	��������������������������=�
�� 
	����������6�������������� ��9	�������	��66��������������	����

�	�	����
����������=����;����	�����	�	��	

:����	�����	

����
���	

	�����	�/	�/�����9	����

5���������Κ5∀ � �	�)�) � !:���/��	��	

� �����Β��	

� �����6���	������
	 �Ε����Α�	� 
	/�����

:	�Β�

�����������	��
�����9	�����������������������	����8���	�������������

�����∀∀��)�)������
���������

�	

:���	����	������������	���� �/��

��������
	����	������ϑ��	����>�����������������������������

�	���������

�//����
��������
�������		������������	���

	���Α�	��	
�
�/�������
	�����������.≅≅≅�

�������)

�������
������%∀4)�Κ5∀∀∀��∀��%���&∋∃
)���∃∀&∋��Ι
���
�����

��	����
�������=��	�	���	�)��&�����∋�=	
)�?<≅∀�� 4).+∗)

+�4�

	����������)�5��)�?≅33��Λ

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�.����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

!����������� � �/��

���� �Ε������	�������

:����������
 �Κ∀∀ � � �	��
�� � ��	���� �
 ���3≅� �Α������

4������� � �� �  ∋4−∀!! 
 � ���Α����� � � ∋	�� � �� � ��������	 � �	

� � 
���� � ��� � ∀����	�6� � ∀∀ � 	�


:��������� ���
	��∗)

∋	
���37�∋���
Η���� ∋4−∀!! 
 ����Α����Η�∃�
���	��)��	�	�����������/	����∀∀3)

∋	
���2���������5∀��������Η����∋
�
�����
�����������	8.� �
�/�����	�����	������������	

:���	���

�	

���9�	����	�����	��Α�	��������
��	�������	

:���	���������	/
�� �/��

�������
�����
���������	����

Α�	�����	��������)

 �������	���
�Κ∀∀∀��	��
���
��	������������ �/��

������������6���������

	��
�	��	����	��	�����
��

����/
����	/
�� ∋4−∀!! 
 �	�
���������	

���9�	��>���������������������9	�
��0���
����5��������

��	����	��=	����������
��
�����������	

	

!�	����8�7)

∋	
��++2����������
���∀��/
�� �/��

���������������
�������
�������	��	���������
���9�	�������) �

1����	��� ���
����	����	��� � ������ 
� � ���=���� ������
�� � ∀∀Ι ��� �Α�	��� ��	������Ε����	� 
��

�����6���	��	
�
������	������
�66����
���)�

�������ϑ���������	
��+3∗�������
���∀�	��������/��������1	�	�����∀∀����������	������������� <�	���
�

�	��������Η��������
����	�	������	�������	�	�������5������
�Α��
	�����������	������	�!��	�����

�	��	������1	�	�����∀∀?)

����
����	�	��	/
�� �/��

���������	���������=�
�������Α�	�����	��������)

 �������	����Α�	��:	����������������	�	�	����	�
����������	

������/
����� � ����	���������

�
�	��	����	��	������Α�	

������
��	�����/
�	�Α��
��Α�	

	��	/
��&�������	����
�������	��%��5���)

!����	���������
����������������������������	����5	���

��	���	������/����	��������	����%��5���2Ι����

	
	����������
�������	��Β����5��	�=���	����	����������	���������
��+<3��
��+<.�≅�	������	���	
�

�+?≅�������	��Β����&���	��)����Μ��	�����
��+2.������9Ν��������
	��	������0���������5∀∀∀��������66����

����������/
������������	��
��������	��)

∋	

����������	

������/
��� ��	/
� � �/��

������ ��������	� �
��	�����//����� ���	�����9	���	
�Κ5�

�	��
�������	�
����	/���������
������������	�	�������5����������������4�	/�����Κ∀�+��	���	
��3∗��

	���/�Η�	���������	�
�����������5���Ι��	
��3∗.�	���/�Η�5	���

���	��������=�Μ��������	����������

�

������������	��	��%��5���)�!����Η����	�	�	�	�
:�
��	���������
	�����%	���=�)

∗�
��/9��������	�)�∀��)����∋	����∃������?3.����/)��≅7�)

3�0����������������	
����	�	�����)�%	
�
�����5���)��33)

.��)�
�
	������	��
���Ο����������	���	��������������	�
��=�=
)�∀��)��ΚΚ∀��)�∗+7
7�0)5)��∀����)�?∗)
<!	�������9	��������	�1����	�����: ���	������
�)��2≅����)∗≅2)
?�9��

����=)�9���)�%��
)�1����)��∀∀���5∀����)�77)
2�9���)�����
�����=�=
)��	
���������∀∀���)<7.���	�����5∀∀∀��)�??�)

�≅���/���	

���∀����	��Β��	
������	����5��	�=�������������	����)��2?3�)
���∃�����	�����
�������/������������������	��	��
	�	����	�����)<<;�23)
�+���
���	��∀���	�	�������5���)��%��)�<2)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�7����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�:����Α�	�������	�����9	������	��������	���������������� 
	��������5∀���5��/�����&�������

�	���
�������	����� �/��

��������	�	�������Α�	�����∗.≅≅≅��������∗)�

!������/
���&������������=�Μ��

�����
������	
��	������������ �/��

���>��	
�Κ5��	��
�����������������

��������	��������	�������������	����	
���	�	�)�

∋	
 � �32≅ � ∀����	�6� � 5∀∀∀ � � ������	 � 
� � �������� � �	� � =	�� � �� �  �/��

���� � ����	�Μ � �
 � ��/
���

1����	��9	�����Ο=�������	�����
��	�����3)�,�	�����	�Η����
�∗�/	�������32∗���	��	��	��
�����	

���

���������������������������4	���
�5��/�����&��������	���
���	66�����3.)≅≅≅�������)

−���������������������	��	������������ 
	��������5∀���	
��32∗�;���	�����	��	��
��<�����/�����;�

�
�Α��
	�����	/��������	�����Μ�� �/��

�������4	���
�5��/�����&�������.)��

,�	����
���������&������	� 
	��������5∀������������
��	>����������������������
��	���	���������9	�

�������	��	
������;������	
��32<� �	���:�
�����	
��.≅∗�;������ �������� �/
��&����������	�	����
�

������

���	
���	�����������������
�����������������4��
���∀∀�7�)�

!� � ����/
�� � &����� � /	��Μ � �
 � ���	�	 � ��
 � �	��� � ������	��� � ��	��� � � � ����	
�Β � 	 � ��/9	��	��

�����	����	�������������	
��	���)�

,�	���������6���	��� �����
�	���
�����������/
� � � ���	��	��� ��	

:	�	������������������/����������

�	���	�0��/���������5�
	��������	
��.���//��� ��32<)�4
���=���������� �/��

�����	��
�������

��

����/
���&����������	�����Α��������	�����	��������	�����	

	�
�����	��	�)�

 ��	���������6���	

���������������	�����6����������������9	�
������
�6���	���� �/��

����

�	�	������:����/��	����������������������	����	��	��	

���9�	�����	

����

	/�����<)

4	���
	�5��/�����&�������
����Η����	�	���Β��
��	������������/
������
�����9	���������
�������������
 �

�.�.��
���������	���
�����������/
���5��/�����&�����)�

1� � Α�	��� � �9	 � ����Η � 
	 � ���������6���� � ��ϑ � ������6��
�> � ������Μ � �� � ��
�66� � =�����
	��

����������
������������������/�Β�	����	��	��	
�Κ∀5��	��
������	��
� ������/
� �����	��9���9	�

�	�������
:���	�����	
���
�66��;�
��	�������Ε��������	�
�66�����	
��2<<�������	������!�����∀��������

;�	��9	�����������	���������	� �
:���	�����������Β����
������5��/�����&�������	
��	�������9	����

��
��.�.��
��.32�?�)

∀��������������
���9�	���	�
������/
���&������ ����	��	�����ϑ����	���>���Η����	��	�/��6�	�������� �

�	

������/
����	�������!	��	�Κ�	�0���������5∀∀��	�����������������
����/����������
��∀∀∀�1���	�	��

�9	������Η�5��/�����&����� �����	

������ ��������	��9���	 ����������/	�	��
	 ��	

� � �
�����

����������)�,�	��� �����	���Η�� � ����	�	������
��5���

��=����/
����	

��4�
	������9	��	����	�


:���	�����	�
�����Α�������	
�����	�����������	
��.∗3)

�∗������������	�������/�
����
����������)
�3�� ����)������.���∗)
�.� ����)������7<�.�)	�������)�.����)��∗��≅∗��	��+�?)

�7� ����)�����9)��)�)����	�)�Κ∀5����)�.����)��≅3)
�<������	���� �/��

������=�6�����	��������������� �/��

������=�6������/)�3;.)
�?� 
��������∃����

����/������ ���	��9���	
���
�66��������
	Ι

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�<����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

∋	
��.∗<��� �5��/������	��	��	��������
����� ����������	���	�����������������������	
� �����

�	������	�����������
�� ∀∀∀� ��� ���	�
��/� �1���	�	)� ∀����	�	�	�6���5��/�����	������������������

������������	�������
�66����

:���	�����	

���������	�������	��	�����	��
���	�����6	)

∋	
��..�� �/��6�	��
��������
	�4��
��� �����������6�����������1������ � �/��

����	==	��
�����

��������������������
	��
:���/���
	������������
�������	����
:����������5	��9�	�	

����	���	�

����������������	���	
��	����Ε��	

:���9�����������
	��2��)

∋	
��.<?����
�� �������&��������������=����������	����	�����=����������
Η������������������=��	�

�
� �Α��
	� �
	�����/
�	���/��

����	����	����� �����Α�����	�������������

	�
����������	�Β���	��� ��	
�

�32<)

−�������� �	����������==
�/Η�/
� �&������ �����
�	���	�/��������	��	

	� 
����������	�Β�����Μ� �
�

�	�������� ��� � �/��

��� � �� � �	����� � � �
 � ∗ � �	==���� � �72∗� ���� � ����	

� � 1
���� �	 � !	
�� �&������ � ��

1����	����4��

���	��������������������/��	��������
�=	�	�
���������∀����	�6��Κ∀∀����	��
��

���������+<.≅≅≅������������ ��	
����Ι� ���)�� ��9)�−�=)���	6)�Κ!∀5��)?.�Ι����Α�	������������	�

 �/��

�������	�	�����
�����
�����%������� &)��∀�� ��Κ5∀∀��.?�)

%��1����	����4��

���
������������Η��	

	�����������������4���	��	�4��

���������/
��)

∋	
��<?7�����������
��	����	���������!����	���	�%��	�����4��

����
�������������Η��	

	������

�	

������/
�����	������9�������=�
��������
�����
���������9	����+≅)

�2�∃�����	������!�������/������������������	��	��
	�	����	�������
)�∀∀∀����/)�?.
+≅�∃�����	�����!�������/������������������	��	��
	�	����	�������
)�∀∀∀���/)�?7)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�?����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�6���������������

�����������3����

!:��	�������������������/
��	���������	���������∆��;���������:�����/	�����	����	
��	�������������

��� �/��

�����∀���/��	�∗��� ����
���
��Β����
��5	��9��8��
��/��
	������	��	
�1���	� ����	�

�∀���/��	�3�	�.�

∀
 � �	�������� � ����������	� � � � ������	�	 � ��	����	��	 � �/����
�� � Ε � �	/���� � ��

� � ��	�	�6� ��� �

���	���	�	�	�/	�6	��������;���9	�
�/��9	)��� ����������	��
	��	�	��	������������� � 
	/����

�

����������	�����	

	�������	������9	>��	����������	�������Α�	���������������9	�/�����������


:��������/�����	������������	��
������Β����
���������=�
��	�����	���
����	��9�	�	������	��	��

��66�)�

 
 ��	�������	���	��
	�����������	 � ����
��	� 
	 ����	���	�∆��
	: ��9	�����	

���� �
 � �	���������


��/� � �
 � ����� ��	
 � ����	� ����	� �	 � 
��/� � � � ���� � �������� � ������ � �9	 �9���� ����������� ���

���6�����	��	���	��
�)

∃���
	��������Β��9	��	

	����	��	�	���9	�������9	�������������
�	��	

	�������	�������	������9	�

�	

��6��������Ε�
:	���������	
�∆���������:)�

�� � ������ ��� � ��� � ��������� ��� � �	�	��	 � �������� ��������� � ��
��	 � �������;���9��	�������� ��9	� �� �

��

���������:��	���������	�����Α���������/���/��
	���������
�����	������������	��	

��6��������

��	���������	�	���)

!:��=�	��	�����������	������	��
	��	�������	�	��/����
��������	��
���	��	��	/������������

	��	����������	��66������

����	�	�6����	

	����	����	��������6	�����	���������

:	
	����������

��
��	��������;���9��	���������Α��
��
����
��5	��9���	�!����
��∋����)

!:	���������	

:�������������Ε���������������	�
�66����������������������������	�	�����������

	��������	����=
���9���������Ι�Ε�����������������	��������	����/�
���������	��������	��������	����

∆���������:����
��	��;�	�	���)�&��������:��	�����37≅��Α��	�������
�������������
���������

�	����:�
�	66�������������7�?≅�����
���
����	
��	����)

!:��	������	����	�6�����	��	��	�����������	�����	�����).∗≅��Α)

&
��	 � �

:	������� � ��������
	� � �:Ε � �� � �	����� � ��������� � ��ϑ � �����
� � ������ � <≅ � �Α � ���

���	�����	������9:	������������������������������=
���9	�������������∀���/��	�<�)

&//��
:	���������	

:��;�������������9	�Ε����������
�66��������	��	��������	������	��������	

��

�	��	66����=����;��	������������6������������
	��	/�����	��==������>����	��9������
�������

���������/
�����6�������	��	�����9	����	���Ι��������Ε������	������

���9��������	/
����=�	����

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�2����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���	���� � 
������������	��� ��/
� ������
� � � � ����������� ��������� � ; ��9	 �9�����	
	��� �Α�	����

	�����������	�
��������/���)

!	 � ��		 � 	��	��	� � ���6��
�	��	 � � �����	����	� � ���� � �� � �	����	 � �����6����� � �����	 � ���

�	/	��6���	�	�������������/���������∀���/��	�?�)

 

:���	���� � ���	 � ������ � �� � ������� � � � ����9����� � �	� � 
� � 
�����6���	 � �	

	 � ������ � ���

�������������	��9������
��������==��������������	�������/�����	����	���
���������
�������/���

/	�	�	��∀���/��	�2�)

!:���	�������
	�����	����������	/
�������:?≅��������	�	����������	�������������
��	���	/�����Ν����

Α��
�������	���������
��	��	��6��������������)

!	���������	���������������Α�	���������������������	���6���	������	��)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��≅����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�7���2����5����
�������

!�	������� � �	

�	�;��������� � 	 � 
���	� ��	����	�6��
	 � ���� � �	����	 � �
 �������� � 1�==������ � �	
�

�����	���� �/��

������=�6����
���/
���?�������	

���7�<)

�7.�� 01�����5����
���������
��������

����2�����
�����

!���	���//	����������	��	����Ε��������������

��∃���
���2���/
���∗73Ι�	����Ε������/����������

�∃���
�� �����	����	��//����	/
�����	����	������=����)

�� ���������������	/������
�����	������� ��	

	�∃�=	

�� ��0�	����	

	�����	��	
��∃�
�����) �+<� �

��	�	����
	��	����6������	

	�������	���������	��//����
��������
�����	

	��6����Χ���������6�����

	�
	�����	��	/�
��	��������	�����9	��	���
����	��//����	/
�����	����	������=����)

� �� 44∀& �%�4!∀ � ∀∋��%∀ ��∋∃∀ � −
0 ∋∀ � ∃�=	

� � � � ; � �	����6���	 ��	

	 � ������	��� � �	
�

��	��//���	��	/
���=�	���������Α��
��Β���	�������

������	��� ��	
 ���	��//�� �	��

	
	�	����������	
��	

&=�	������������	
��	���/
�����	����

�	

��Α��
��Β��	
���	��//��

1��������������9���	��	
�	�������

��
�	��=�
��Β��	
���	��//��

∀��	����	��� � �	���	�6��
	 � 	Χ��

���������� � �������� � �� � �	�	��	�

�����6���	 � ��� � ���	�����	�

�������� � ��//���	 � �	
 � ∗≅Π�

�	

�����Β������/������

4	�����	 � �	

�	������	�� � ��=����

�	�����	>

;�������

��	��������	

;������6���	��	���������	�����

; � ����	���6���	 � 	 � ��Α��
�����6���	�

�	/
� � 	
	�	��� � ����������� � �	
�

���������� � ������
	 � ��=��� � ���		�

�	���������������Α���

��Α��
�����6���	 � 	 � �	���	�� � �	

��

��������� � �	/
� � ���	����	��� � 	 � �	��

��	��//����=���

; � ���	����� � �

� � ������6���	 � �� � ��	�	�

����	������		 � �� � ��
��	�

���9��	�������

; � ����	���6���	 � 	 � ���������6���	 ����

����	�� � ���9��	������� � �� � Α��
��Β � ���

������������	

; � ����	���6���	 � �	/
� � 	
	�	����

��������������	
��������������
����
	

; � ������

� � 	 � ����	���	��� � �	

	�

∀��������� � �� � 	
	�	��� � 	�����	� � 	�

�����/���� � ��� � �
 � ��	��//���

�	

����	����	��� � ��=��� � 	�

������6���� � ��������	�������	�

����	��� ��

���=�	��	 �����������	�

��������	/�	��	���������6���	�

�	

����	��� � �	��	������ � ��	�����

	�����������

	
�����6���	����/�	�����

�	

	 � �	
�6���� � �����	� � �������;

��
����
������=�
��9	

��������6���	 � �	

����	����

��=�������� � �� � �	����� � ��=����

���	�������Α��
��Β

��������6���	 � �	� � ������	���

����
�/������	�����	���
����	����
����

	 � ����������� � �	/
� � ���	����	����

���	�������Α��
��Β����9��	�������

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�������37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�����
� � �	��� � � � ��	��//� � �� � ��	/���

�����/���	Χ�����	��	��

���=������=����

����	
�6���	�������������	��	���

����� � ������ � �

� � ��������	����

��������

��� � �� � �	��	�� � � � ����9���

4	�
�/���

�	������ � 	 � ��������9	�

��������

��	

� �� 44∀&�%�4!∀�∀∋��%∀ ��∋∃∀�−
0 ∋∀�����=	

��0����������
�����	

	��6����Χ���������6�����	�

�=�	������������	
��

∃∀�&!&4∀��%∀�∀∋∃�
5�∋∃∀�%∀�∃
 �1&
� (∀&∋� &0∀�∃∃∀5&�����∀1∀�&�%∀�∃−∃�! ���%∀��∀�!∀∋ 

3� −��������������

����	����
	�	

�	�6�����


�Α��
�����6���	� � �	���	�� �	 � ��
���66�6���	 ��	� ���	��//��

�	/
�����	����	������=���)

3)+� ��������	�����	����
�

	��	�6����	

�����6���	 � �	� � �	����� � ���	/����� � ����	���6���	 � 	�

��
���66�6���	��	

	��������Β��������=�
������
:���	����	����

�	���	�6��
	)

3)+)��

�	���	���	����
���	�������	�����

�
�+≅Π

����	�����������	�6���	����������������������������	�������	�

�������	��������	��������	������������6���	�	��
�6����
	��	�	�

���=�����������)�∗���)����	


%�
∗?≅Χ≅� � 	 � 
	//� � �	/����
� � �� � �	�	���	����� � ����

��	/���	��� � �

	 � ��	����6���� � �	
����	 � �� � ���	���
���

��
������	� � �������	) � ���� � ����	����� � ���
��	 � ���
���	����

���	�������
�+≅Π

.� −���∃�����������������

	���
����
	

5�
���66�6���	 � �	� � ��	��//� � �	/
� � ���	����	��� � ��=�����

�����6���	�����	���������	/��������
���66�6���	

�	��=	����	
��������������
����
	���	�	�����	���	��������=���)

.)3� ��������	����	������9	�	��	����

��
����
��	����	�

��
���66�6���	 � �����6���	 � �	

� � Α��
��Β � �	
 � ��	��//���

��=���

.)3)� �	���	���	����
���	�������	�����

�
�+≅Π

����	�����������	�6���	����������������������������	�������	�

�������	��������	��������	������������6���	�	��
�6����
	��	�	�

���=�����������)�∗�������	


%�
∗?≅Χ≅� � 	 � 
	//� � �	/����
� � �� � �	�	���	����� � ����

��	/���	��� � �

	 � ��	����6���� � �	
����	 � �� � ���	���
���

��
������	� � �������	) � ���� � ����	����� � ���
��	 � ���
���	����

���	�������
�+≅Π)

<� −���∀�������������
	� ����6���	����6����
	�	�����9	���������	
���	��//�����=���

<)+). �	������ � �	����
� � 	 � �	���	��� ����	�����

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��+����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

������
������

<)+)7 ����	����
�=�
� ����	����	

<)+)< ����9	//��	����66�
	��������� ����	����	 � 
	 � ���66�
	 � �� � �����) � !� � �	�
�66�6���	 � ���

����9	//� � Ε � ��=�������� � � � ��� � �9	 � �	�	 � ����	�	�	�

	
	�	��� � �� � ��
���6���	 � �	� � 
� � �������=�
��Β � ��� � �
�

��	��//�����=���� � �� � �	
�6���	����9	��

	���������6�����

�	

:���	��� � �	��	������ � ��	���� � 	 � ���������� � ����9Ν�

����	�	�	 � �������	 � �� � ����/�6���	 � �	

:������� � ��
�

��	��//�� � ��=��� � ����������	) � %	�	 � ���
��	 � ��	�	�	�	�

����	��6�������	������9	��9	�������������
:���	���	�����	
�

��������� � �	
 � �	����� � ��=��� � 	 � �� ���/
�����	��� � �	

��

Α��
��Β���	��//�����������
	�������	
�����	������=���)

� �� 44∀&�%�4!∀�∀∋��%∀ ��∋∃∀�−
0 ∋∀�∃�=	

�������������	/�
��	����	�

�
	�	�����	
���	��//��� ∋������	/�
��	����	

3 �����
�/����	
��	��	��

3�� �����	��������	����	����	

��	����

�	
��	��	��

∀������ ��� ����	

��	��� ��	
 � ���
�� � �	���66��	���� � ��	�����

���� � �� � ����	/�� � ���	����	��	 � �	�	����� � �	� � 
	�

���������6���� � ��	����	 � ��

	 � ��	�	��� � ����	 � ������	�

�����	�	�	 ��

� � ����	��6���	��	

	 ��������	 � ��� �������
���

�������������
���	�����	�
���	�=��	����	Χ��
���	���/
��������
�

���	�����������	��
�
���������
����	����	�����	������	����	���

�	
����
�

. �
	�	��� � ���9��	������� � �	/
��

	������� � �	���6���� � 	 � �
��� � 	
	�	����

�	
���	��//�����=���

.)� ���	����	 ��	�	��=�
�	��	 � � � �	��� � �������� � �� � ������ � ����� � 	��

	�=���� � � � � � �	/�
	Ι � �� � ����	��	 � 
� � ���������6���	 � ���

���	����� � ����� � � � �	��� � ����9Ν � 
� � 
��	� � �� � /������

����������� � �

� � Α���� � ��		����	��	 � �� � ��
�	����) � !��

���	������������Ε���	�	��=�
	���	�������������������	��������

������ � 	 � Α��
��Β � ���9��	������� � �	
 � �	����� � 	��
�6���

����������	�	Χ���	��	�����������
�	66�����	����	���<��


.)+ ,��
��Β � �	

	 � �������	� � ��
�����

���	��
�

!	 � ������6���� � �	���� � ����	����	 � �
 � �����
� � ������
	 � �	
�

�	��	��� � �	���� � 	��	�	 � �������	 � 	��	����	��	 � 	 � ���
�66��	�

��	�	��=�
�	��	> ��������� ����� �������� �� ���	��� ������/
���


�������� � ��	��� � 	 � �������� �� � ����� � �������� �	 � ����	 � ��

��
�	������Α�	������
�Α���6���	

��/������	

	��	��	��

�����������
	/���������
	����	�����������������	��������
	�����

	��
�����	��

������������66���)�!����������������������	Χ��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��∗����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

��� � �������� �� � ���� � � � �	�	��� � ������ � �� � ����� � �����

����	����	���	���
	��������������������	�	
	�	�������Α��
��Β�

���9��	������� � �	
 ���������� � �� � ������� � ��� � �
 � �	������

	��
�6�������������	)

.)∗ 
	���6���� %	���� � 	��	�	 � �	�
�66��	 � �� ����� ��� ���� � 	
������	 � 
	�

�	
�6����������	��

����	�����	
���	��//�����=���)

!���	���	

���;���������������	������	�����=	�	���	��//��������	����������	��0	�	�������	�	��

�� �Α����� � �����	��	 ��

����	��� ��	

� � ������ ��	
 � !�/���� � 0�������� �	 ������/����� Θ0	���

������	�	����%�

��������	
�!�/�����0���������	������/�����������
������	�����	
�%��.Χ++Χ�2?.��Λ�<7

��������	
�!�/�����0���������	������/�����������
������	�����	
�%���≅Χ+∗Χ�27≅��Λ+77Ρ

���������	�
����


������

��	
��
	
	��	��������	�

������

����	����
���	
�	�	�����������������������������	���

��������	����
���	
�	�	�	������	�	����	�	���������
������
�	����	���������
���	
�	�������	�������	��	���
	���

�	����������	�����

��� ���	��������������	����������!���	�	
���
	����������������	�
��
	�����!���	����

���������������������!�������∀��������	����	� ������#

��������
��	����	�	�������������
�	� 	���������	��	������

����� ��������	�
	������	�∃�������	��%

�������	���&�	��	���	�	���	������	&������ �����	��������	
��
	
	��	�������������
��������������	��&�����
	

�	
�	�� ����������������������� ��������

�%

���	�������

	��	���
��	����	�	���������������� ����������	
�	����
���������������������
���	���������	
	�����&

	�	�������
�����
�����	�	�����

�����������	��%

�����������

���������	�������
	������������∋ ���	�����
(�� ���∋ �	�� ��	��	��	
������	����������&�����

	�	�	

���� ���	��&���	�∋ ��	�
	���������
�����������	�∋ ����������

��

)�����������	����	��	��	��	���
	�����	����������	�����

��� ���	����∗∗��� ��	�������+��������������������

,	�	
��������	����	���������	�	�∃�� �� ���	���������−��	����.�
	������	������	����
	��	�������/	 ����−��	�����&


����	��	�	� ��	���������∗	��������������0������1�����
��	��	���	���������	��������	������	�
� �����	��	�∋ �

���	�	�����	��	��	�

�������	��������∗∗��� ���&��	�
��
	�����!�����))�������.−�)�23�&�����	����	
	������������	∗	������������	�����
	��	

����	��	
��
	�	�	���	��������	����	�	��	�	� ��	�	���	����	��	�� 	��������������������������


 ������
���	�������	�����	�	
	���
����
��	��	&��	
�������	�����!���	�	�∃�����	
�������!������������	��,	�	
����

����	�1��	���������	�	�∃�� �� ���	&����
∗�������������	�����
	��	���������������∗	����	�	���	������
��������/,

�#)4�555��������������������	������
 �����0−��#�5�555�

���.��0������1����	���������	���������������	�∗����
	��	��	��	∗��	��������	�
	����	��������	����	��

∋ ������	
�������	��������	����	
	�����∗∗��� ����	����
�����!���������	�� 	�
�������	������	��������!	��	�	� �
	���

���������	∗	�������������	�����
	��	��������
��	
	��������������	∗	���������	
��
	�	������&��	�
��
	

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��3����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

����!����))�������)��	
&���
�	� 	
����&��������	��������������� �����������	��������0�−&����∗�����������	∗	6

�����	��������	����	���	����	����
���	
�	�	��	�� 	����!���	���������������������������	��%�∗	��������������	��

��
�����	���	������	�∗	�	������������� ���� ���	

��	���������	�����
	��	������� ���	�������	������	�	��������	����	

�4��.��0������1����	���������	������������	����������
������
	�����	������ ��	�������
	�
	�	����������	

�����	�	��������	����	��	 �	
�	
	����	��

 ��	����������	��
����	�������
�����
����

����	���	 �	�������������

 ��	�����
��������	�����
	��	���	��������	����	���� ����	�����
����	��	�	� ����������0������1�

∀��.��0������1����	���������	������������	������&��	�
��
	�����!��������������4�����������������	��&���

	��	�	� �
	����������������������������������

��������������������∋ ��	��������	

�
	��������	�	��������	

�∗∗���	������������	������� ��������������	∋ ��	∗	��
	���������	��	����	���	��
�	������!� ���	

�
	�������
���	
�	��%

�!��������	���	������������	
��
	
	��	��������
�����������7�
 ����	��������!�������
	���������0�−

�����!	���
���	�� 	����!���	������������������������	��������8����!�������
	��������	�
�� ����	� ����	
�	�	

���� ��	�����	�������
���	
�	��&��	�
��
	�����!���	�������4��������	���������!�����)9������������)�23�:�

9���	����	����
���	
�	�	�	��	�	� ��	������������	����������!���	�	
���
	�������������������
	�����	��

�!�
�� 
	�����	�� 	����������)�����!���	�������)��������	���

����	����	����
���	
�	�	�	��	�	� ��	������������	����������!���	�	
���
	���������������
	�����	�����

�	
�	��	����	�� ��������	� 
������	����	�	��	����
���	���	�� 	���������������������
���	�������

∋	

������
��0��	
��∃�
��
���	���	

���;���������������	��

����	�����	

����������������	�����	
 �

����	� ����	�����	
�����	��
	//	�)Θ1 ����%∀�
∀���∃∃&>�����	������	��
����
��	�����������Α����

�
��	���	�������
	//	�
)%��<Χ+Χ�2�≅��1���	� ����	�&����	���
	Ρ

���������������	/������
����	���	������	��������	

	�����	��	
��∃�
��9	��	/�
����
	�����
��Β����

���	
���	

	�����	��������	�����	������������Α��)�

∋���	��	
��∃�
����)∗.

��������

������	�∃��	�� ����������������� �����������������

������4

������
	������	����
	���������∋ ��� ���	����

����	�
��
	�����!���	�������)����&�����������&��������	���
����
������
�	����	���������
	
�	���	�∗	 �	&�	�������	����	����
	 �

�!��∋ ��	
��	��	�����	�������	��	�� 	������
��� �	����������	
��
	
	��	��	�������
 ������∋ �����	��	���	�������	�	&���������� �

�������	��������������	��������3��&��� ��994&��� ��������	���
���������	��������	 ����	�	 ����� ���∗�
�	���	 ��45�����	 �

�	�
� ��&��	�
�� 	��������	�����∗�
�	���	��	
������

)����∗	 �	�	��������	���	����
	��!��∋ ��
������
�	� 	�	����∋ ���	�	
��	��	�����	�������	���������∋ ��� ���	�����	������	������ �

/�

�����;∗∗	�	��	������	�	��	��	�∋ ������� ���	��	�����	��	��������−��	���%�
����	����������� ��������	�∗	�	����
	
�	�	�� ������ �


������	�	
��	��������	�������	���������∋ ��� ���	����	��	�	� �����������������1������0�−��

�������	∗��	��������������∗	��������!	��	�	� �
	����������∗�
�	���	��	
������7���
�	� 	�������������������
���	%�∋ �������� �


 ������������������	
 ��	�������	
�������	������
�������	�� ���	�
	�∗���	���
�����������������	������	�����������	�	��	 �

����∗�����������	�	�	��
���������	�∗��	�������#4�555�

�������</−���)�������))�5)�)55)�7�
������∗∗��� ��������	����	
	������������∗	�	

�
	�����	�
��
	�����!�����))�������������� �

���������.−�)�23����	����
	��!��∋ ���!������ ���	�����
 ��1;−.����������)3�∀�)55)�
 ��	�∋ ��+ ��������	����	���	���� �

�	�
� �������	��	�&�	���������������</−�����∀������)��5∀�)55)���
 ���

	�����������	∗	�����������	
��������</−�����4) �

����5��5��)554&�����	� �����	���0�−�������
������!	�
	������	��������	����	����������	�	�
�������������	∗	����
 ���

	���

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��.����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���+���������
(�������
�������������0������1&�
��
�����∗�
�	���	��	
�����&�	����
	��!��∋ ���������−��	���&�	��� ������	�������& �

���	���	��� ���	��	������	��	�∗	�	����
���	
�	�	�������	��)9�5��)55∀�������	�� ���	��
	��������<�������.��	
���	���)��5��)55∀ �

����49�

4������ ����	������	���	�����	������7�∗������	�	�����	��������������!	�� ����������	����
	��!��∋ ��
������
�	����	�����%�7 �

����

���!	�� �������&����������	�������������	 �	 �)5�����	��������	���	�	������	
���
��	�∗��	��	��	�����	��55&��	����
	 �

�!��∋ ��� ���	������	�����	��	�����
��
�������	�&�����	��� ���	

�
	�����	�� 	����!���	�����9���������������392�3�3��+��� �

∗���	�
���	�	������	��	∃�	�� ���	��������������� ���	

�
	���������������	���������	���	��������������������	������)�23���� �

��� �	�	��	�	� ����
 ��������������	������	������	�
 �����	������	�	�� ���	&�
���	∗	������	����������	��� �����	����	∗	���	�� �

��� � ���
� ��!��∋ � � 	�����

��� � � � ���
�������� �� ���� �����
	��� ����� �−��	��� ��	 � ∗	�	 � ����!���	��������� ���� � 
	
���� �

	�∗�����	����	�� 	����!���	�������������.−�)�23��

∀�������
	��!��∋ ������������	���∗�
����	��	
���������������

���������� �	�	�����	���	���	∗	���	����� ������∗���	�∃��	�����	 �

�45����������%�������
���	������	������������	����	∗	�	��	&�������∗���	�∃�������∗�
����������������	���������	���	∗	�����
	 �

�	� ���������	�45�

9� � =���� � 
���� � �!����	�� � �	 � �	��	����� � �!� ���	

�
	��� � ���
	
�	�� � �	 � 
��
	 � ����	 � ���	���	 � ��∀ � � � �43 � ��� ����	�� � & � �� �

�	
��
	
	��	��	�� 	��	����������	�����	�4���∀�����
	�����	��������������� ����	

�����
	
����	������	��	�	� ���������0�−&�� �

����	
�������	 � �� � >���
���	� � ����	 � 	�
��	�����	 �  ����	: � � � ���� � >−��	& � 	�∗��
�� �� �� � � � 
���	
	:& � ∗���� � ��
����� � �� �

�������	�����∗	�	
	���������������� ��������	�����������	�����
���	�����	�� 	����!���	�����∀5����������
���	������&�����	���� �

)&�∋ ������	�����	������
	����	��� 
	�� ���	���	�	
	��� 
	�	���������	�	�

����������
�����&�<����=&��	�� 	�������������	�	
���	����)����	����3∀�&���������	�	���������	�
�� ����	� ����	
�	�	���������	 �

�����������	����
	������	��0���&�����	�����	���	�
�����	
�	��	��0�&������������	���������	���	����������������)�23�������7���� �

�� ����� � 	��	�	� ������� ��0�−& ����	 ����	∗	������� �
�������	 � � ���	 ������� ∗�
�� ��	 ��	
����� �7�
 ����	��������� �
�� ���	 �

����	
	��	#�

���������	�������	� ���∗�
�	���	�	���	∗	���	�	�∃��	�����	�45�������	�������!���	��%

���������������
	
���
���	��������	∗	���������	� �%

����	
�������������	
�	��	����	�����	������ ��	����	��	��	����	��	����������	�����

��� ���	�����
������
�	����	���������
	
�	���

3��?�����∗�
����	��	
������7�∗���������	����	��������������
�������	�� ���	������������
	�����	���	�����
	
�����&�∗�����
���� �

∋ ���� �����	
�� ���� � 
 ���

	�� ������ ��9 ���	 � 	��������	 � �	 �� 	 ��	 �����	 �
 ���

	�	 � ������ ���������� � ������� ��� �


	
����
	�������
	
�	����������������	���������	����∗����	�	���������
	����	������	���	�� ���	�

�5��.!	��	����	���	∗	���	�	�∃�����	� 	��������∗�
����	��	
������	��	�	� �����	�
��
	���	�����	����������	�����������	�∗	�	���� �

��������������� ��� �������	

��	������ �����
	������������	�
��	��	�����������
��

���������	 ��������&� ∗�������
����� �

�!����	����	���
�� 	�������	�∗ ��	��	��

��

�����������
����≅��	�� 	�������������	�	
���	����)����	����3∀���!	��	�������	� 	���7#�����������
����
������
����
�� 
	������� �

����	�������	�� 	����!���	�������)�������������������	��&�∋ ���������	
��&��������
�������	�����	�����

����&�������
�� ����� �

 ����	
�	�� � �	�����% � �� � ��� � ��	 � 	����	�	 � � � �� � ���� � 
������
�� � �� � �	����� � �	 � 
��
	 � ����!���	���� � ��� � ��� ����	�� � ��� �

�������	����� � ����!���	�	
���
	��� � ����������& � ∋ ���� � ������ �� � ����� � �	
�	��	�� � �	 � � ���� � � � �	 �  
� � ��� � ���
���	� �

	��	�	� ���������0�−�
	
���	�������	�	��	����
���	��Α���������������������	
������������
	�����	�����	���	�������
���

���& �

	�������
�&�∋ ���������	
�������	�
�� ����	� ����	
�	�	��	����	��������
�������	�����	�����

����

�)�?���!���	���������∗�
����	��	
�������	�� 	�����������&���	�
�� ����	� ����	
�	�	��	�� ����∗����
	������������	���	���∋ ���	 �

�	����	 � ��

��� � ��������� � 	�∗��
�� �� �� � � � 
���	
	 � �� � 	��������	 �  �	�	 � ���� � �	∋ ��	∗	��
	��� � ��	 � ��

 �	 � �	���
����	 � � �

���� �����	 � ∗ �
	����	 ��	 ������

�� �����������	�����
	
����	& �����	�������������!�����������������& ���� ��	
����������� �

�	
��
	
	��	����������
����������&��������
�� ���	�����	
	��	#

���������	�������	� ���∗�
�	���	�	���	∗	���	�	�∃��	�����	�45�������	�������!���	��%

���������������
	
���
���	��������	∗	���������	� �%

����	
�������������	
�	��	����	�����	������ ��	����	��	��	����	��	����������	�����

��� ���	�����
������
�	����	���������
	
�	���

������������	������	�	������	�∗��
�� �� ������	�
���	
	��	�� 	�����������)�
������������	�����+����	�� 	����	����	���	�4����4� �

���������
���	�������

�� � �� � ∗	�� � �	 � ∗����	�� � 	� � ��� ���� � ��� � ����	���	� � ��	�	
	� � �	������� � ����� � ∗�
�� � �	 � �	
����� � ����� � ��∋ � � � ���	��� �

���	��	������� �����	

������
����	����	 �
��
	 ������ � ����	��	����	 �����
���������� ������ ����	

�����	 �� 	 ��� ����������� �

������9&�����	���� ∗���	������	������	��	�
��
	���������������	����������	����	������	�	�� ���������	�	����	��5�555��∋&�7 �

���
���	��� ��� �������	���� ����	���	�
��	�∗	�	�	�	��	���6�
��	���	&�����
 ���	�������4���������������� �∋ ������
 ���	��� �

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��7����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

��45���� �?�	���
	 � 	��� 	�����
 

	
��� 	� ���∋ 	
	������ � ����� ��	�	����	 ��5�555��∋�7���

	�	�� � �!���� ������ �	�	��	�� �

����!	����	�������	������������

	����	�� ��� ������	���)5����

�4�.��������	��� �	�������	����	∗	���	��	
���
��	�	�����	����
	��!��∋ ��
������
�	����	���������
	
�	��&���������������	������� �


���	������������� ��
	������������∋ ����∗� �����	�
��	�����	��	�	�	������� ��	�	����∗���	��	��	�	�	��	���������	�	�∃�����	
�	 �

���������	
��
	�����	�����&���������������

��������	�	�∃�	��	
���
��	�	��	�∗	�	���������	�	��
	�����	�
	� �
	��	�	�
�� ��	����	 �

���	������������
��	�∃�� ���	��������8����������
����������������

��	��������� �	�	

�
	�������� ��	�����������∋ ��
��� �

���
���	��&�����	��� �����
����	��
�	��������	������	����������	��Β �����&�	�����
��
���	������	�����
	����	����	��	
��	��	 �

�
����
	���&�
	����������
�� 	����������	�
����� ����
�����	�
	
����
	����	��� �	��&�	�
������	��
�� ���	�
������� �	�� �

���������	
�����������������!	�	
	�������������������	��
���������!� ���	�∃������
��������� ����������	���������
	
�	�� �

�!����� ����	��	
�	���������
�������	�� ���	��������
������� ������������������
	
����
	���������������

�∀ �.� � ����� � � � ��	 � 	��������	 � �����	�	 � ���� � �����

�� �� � ���� ��	& � ���� � 	�∗��
�� �� �� � �	��	�& � ∗�����	��	� � �� � � � ���� � 
��� �

���
���	��& �	�����������∋ ���������	
����������
��������	����&����������∗	�������!��������
���������	����
	��!��∋ ����� �

�����	��������!	�∗��
�� �� ������������������	�������	�����
���!��∋ �������������
	�����	���	�����
	
�����&����������������� �

 ������� ����
	
����
	�������
	
�	����������������	���������	����∗����	�	���������
	����	���	�� ���	��0 �����������������	 �

	��������	���������

������������	�����+����	�� 	����	����	���	�4����4�����������
���	�������

�9�/�	�	��������	��	���� ���
	�������	���	����
������	���	����
��	��	��������������������
	������������−�� ���	���������	�� �

�33�&������9�&�����∗∗��� ��
	���	����
	��!��∋ �&�� ���7���	�
��

	������������	���������
	��	����������	�������
�������	 �

� ���	������������	����!�

�����	���������	�����������	���	�&�����
����
������	����!� ���	

�
	�����	�� 	����	����	���	���∀�� �

�43 ���� ����	��& ��� ����!����	�� � �	 � ��� �	��
	��� � ���� � 
�� �� �� � ���	����	 � ���������� � ����!�

�

����� � ���������� � 	� �

�����	� � �	 � �����& � ���	 � �	 � 
���	
	 � � � ���	�	�∃ � �� � ���� � 
�� �� �� � ���	����� � ���������� � �� � �	��
�	� � ��	 � �������	����	 �

� ���	

����	��	�� 	����	����	���	���∀����43��������	��& ����������������	���	���	�������!	�	
	����	� �����	� �.���������	 �

�	��	
�	�������!�∗∗	�	�
	�∃���	����
	��!��∋ �&����
�� ���	��������	�∃���� ���	����	��������������	���
	� �
	��	��	����	���� �

�����������	�����������	��
	�����	������	��	��	��	�	�����	�����	&�����	
���	������
	�	��	��	��	�	�������������
����������� �

� ����
��&�
���������������
�&�������� ���	�∃��	����	����	��	�	������
	�����&�	�������	�����������	�����&�� ����
������ �

���������������� ��
	��	��������	�� �����	
�������!���	�����4�������������4������	���33�&��� ��9&� 	��∋ ������	����	 ����� �

�	��

��	����	
�	����	� ���
	� �
	��������
	
�����&���
�	� 	
�����	��������	��	���� ���
	������������������������
�������	 �

� ���	&��	�
��
	�����!���	������&��������5��	
�����������������	��������33∀&����∀99�

���.���������	�� 	�����������4��������∗�����	∗��	���������������	�����	�	�������	����� ���	
�	���

�3�?������
���	������	�	�
��	�����	�	������ 
	����&��������
���	�����	������	�����	� 	�∃��������!��� �
	�����	��������	��	 �

���	���	�	�∃���	����
	��!��∋ ��
�������
���	������
∗����
	��	��	���
�����∋ ������	�� 	��	�����	�∀&�9&��&�3&��5&��)&��������	� �

����	
��
	
	�����	� ���	������� ��	����	�
��
	�����!���	�����4�&��������&���������������������
���	������&������������� ���� �

 ����	
�	�������������
�����	����
∗����
	����7�
 ����	��������������	
	��	��	�� 	�����������)�

)5�?������
���	�������	���	�����	� 	�∃����������
���	�������	���	�������&��
�� 
	���������������∗�
����	��	
����������	 �

�∗∗� ���	��	����	���	����
	��!��∋ �&�	��	�	� ��	��������
	�������������������1&�
	�����	���������	
��
	
	��	��	�� 	����������� �

���������
���	��������

)��?�	���
	�	��� 	�
	��	
�����	� ����������	��	�	� �
	������	����
	��!��∋ ���∗∗��� ���������0�−&�	���� �	����
�������&���� �

���� ��� � ��� �����
	��� � ��������∗	��& � �� � �	��	�
�� � �	 � ����	∗	�� � ���� � 
�� �� �� � ���	����� � ���������� � 	� � �����	� � �	 �

�	��	∗	��
	�������
���	
�	�����������������������	∗	���������!���� ���������������∗	��%�	������
������!���� ������������ �

��������∗	������
�� 	������������ �	��
	�����	�����	∗	������������������−��	���&��	�∗	�	������	��
�	��������� ���	

�
	��	�� �

�����

	��	���������
�&�	���� �	����������
���	������	�	�������	����	�	������	��
	�����������	
��
	
	��	��	�� 	����!���	���� �

�4������������������
���	�������

)) � ?�	 � ��
	 � 	� � � 	& � ∗���� � ��
����� � �!�
���� � 	��	�	� �
	��� � ��� � ���
� � �!��∋ �& � 
	 � �	
�����	�� � �	
������
� � ��� � �� �

���∗	�	

�
	������	��	�	�	��	�� ���	�	�∃��������
���!��∋ ��
��

����������������∗	�������0�−���∋ ���	���
��	��	�������/�;� �

�����	������	�������	���������∋ ��� ���	�������	
 �����	�����������������
���	�����	��
	
���
������������&�	���� �	���������� �

���∗���	
���	���	�� 	�������
���������������	�
 �����	������	���
�������������	
������
���	������������
�� �� ������	����� �

���������� � 	� � �����	� � �	 � �	��	∗	��
	��� � ���
���	
�	�� � ��� � �������� � ���!���� ������ � ��������∗	��% � 	� � ����
� �

����!���� ���������������������∗	�&��	�∗	�	�������� ���	

�
	��	�����	������

	��	���������
��	���� �	����������
���	 �

�����	�	�������	����	�	������	��
	�����������	
��
	
	��	��	�� 	����!���	������4������������������
���	�������

)��������	��∗∗� ���	��	����	���	����
	��!��∋ ��	
��	��	�����	�������	&�	��	�	� ��	��������
	�������������������1&���������������� �

����
���	�
����������
�����	����∗	������������ ���
	�������	��������	� ������������	���&�∋ �����
	��	
�����	����	
������
� �

����������∗	�	

�
	������	��	�	�	��	��	�������������
���!��∋ ��
��

����������������∗	�������0�−����!	��	�����
�����
���	
�	�� �

�	�
��
	������ ��������������������</−��4)����������	���)554�	����� ���
�������	��������������	
 ����	��	���������������� ��� �

��� �����
	������������∗	��������
�� �� ������	�����������������	�������	���	��	��	∗	��
	�������
���	
�	��������������� �

���!���� ���������������∗	��%�	������
������!���� ���������������������∗	�&��	�∗	�	�������� ���	

�
	��	�����	������

	��	 �

��������
��	���� �	����������
���	������	�	�������	����	�	������	��
	�����������	
��
	
	��	��	�� 	����!���	������4�������� �

���������
���	�������

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��<����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

)�������
	��!��∋ ���	�� 	�������
��������	����&�	���

��
���	�����	����	����
���	
�	�	��	�� 	����!���	����������������	��&��	 �


��
	 �����!���	���������������4� ����������& ���
�	� 	
��������	�	 ���	 �∋ ��	 � �������	

�
	�����	 ���������� 	��������	 �� Χ �

�����	�������	��������������&�����!���	�������������	���������	���������	��
�	�������	�������	�	
	�&���������������∗���	�∃ �

���������	
	��	������	�������
���	
�	�����������
�� ������ ����	
�	������ ��������� �����	�
��
	�����!���	�������4���� �

���	���������!���	�����)9��������������)�23�&�����	���������
	���

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��?����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�8�
&��������2���1�
��

!��������������	������
	�������/	���6���	��	�� � � 
�������� ���� ��

����	�	��	��	
�6���	��Ε�������

����������

�������	��	����/	�����������9)���	�������
��!��	��������	/������	/
� �	��������/����

���
�������������	������	/�6������Λ32?≅��	
��≅3)�+)+≅≅2)

∀
 � �	
����� � %�����
����	 � �� � ∀������� � ����	������
	 � Ε � ����� � ������� � ���/������	��	 � ��
�

�����������������	����������	���
�%��	����	��	

����	���������������	��	�� ��������+.���//���

+≅�≅)

����
	��	����	�������
�+?�/��/���+≅�≅�� 
�������	��	����/	����������9�	�	������������/���	��

�	����� ��� � ����	/�� ��	/
� � 	
�=����� ��	
 ����/	��� ���	
������	 � �� � ��/���	 ��	

	 �+��������
&


��	��
��	
�	�����
� 
����� 
���
��	��
���	�������
& 
�	� 
 ������ 
	 
����� 
��������
�� 
������ 


	������
�
��
��
���
��
���	���	�
�
��	
�����
����	�
�
�
�	�������	�
	
�	
��	�������
��
�	������ 


�	���
�
�
�
��
������
	���
	
����	��
�	�
������

�∗)+�

∃�
	������/���	���������	������

����	��������������������)�+.3?��	
�+Χ<Χ+≅�≅)

4
� � 	
�=����� � �	
����� � �
 � ���/	��� ���	
������	 � �	������ �Α����� � �����	��� � �

����	 ������ �	��

��Α���������������)�∋Λ�+.22���������<Χ<Χ+≅�≅)

∀� � �	�	 ��� � �	��������	
 ����/	��� ���	
������	� � 
� ��������	�6�� � �� ����� �+� � 
�/
�� �+≅�≅� �9��

�����
�������9�	��	��������	/��6���	�����	������

	��������	����/	����
��	
�=����	)�

∀���������
��	��	����������9�	��	>�

� ��
���6���� � ����� � 
����	/��=�
��Β � �	

	 � ��	�	 � ������������9	 � ��� � ����	�� � �	���
�/����

	���������=�
�Ι

� �������9	��

��������=�6���	�	�����6���	��	������9	//������	����	�6�

� 	
�����6���	��	
����������������

����	�����	

�	��;���	�

� �

���6���	 ��� � �� ������
� ��)∀)∃) � ������ � ����������� � ���������� � �

����	��� ��	
 � ��
��	�

	��	����������=��	���0����	�������
���
	�=�/������	���=�
	���

�	��	���

� �	���	�� ��	

� � ���6�� � ���	��� ��

�	��;���	� � �� ���	������	 ��	

��

�//���	��� ��	

��

�����/�8

4
� � 	
�=����� � �	
����� � �

	 � ����������	 � ���	/��6���� � ���� � ����� � �������� � 	 � �����	��� � �

��

�������	�6��������������/�����+≅�≅����Α������������Λ��������)�∗≅≅7)��

!�������	��	����/	������������
	��	�����Α��������
��������

���	

����	���������������+Χ��Χ+≅�≅�

�Λ+<.?������9�	�	��������	���6�����	������������������������	�	���>��	��������������	�����6���	�

+�!	��	��������//	���>��
��9�	������������/�������	�����������	/����	
����/	������	
������	8�����������

�������	��	����/	������ �
	����	�������

����	��������������	��	���������+2Χ≅7Χ+≅�≅

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/��2����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

��=��������� � ����������	��� � �	/
� � 	������� � ����� ��� � �������	�6� ��	� ����������� � ������� � ���

���/	���������	��	��	��	
�6������	����9	��	
�=����� ��� � ��
�	���	��� ����/	������	�������6�����

���	���	��������/���������
�������������������������	�	��	�	������������
�	����	

	�������	��� �

������������9	����������
��	��	����9	)

∀� � ���� � + � ���	�=�	 � +≅�≅ � 
� � �����	��	 � 9� � ���	���� � ��

����	 � �������	��	 � �
���� � �	��

�����	������	�	�	��	�	��	����9�	������	

����	������>��	��������������	�����6���	���=����������

����������	�������������������
	�����������	���������������	��)
)4)�������
	)

∀
 � ���/	��� � ��	
������	 � Ε � ����� � ��
����� � 	� � ��������� � ��

����	 � �������	��	 � ����

�	�	�����6���	��Λ��∗7��	
�≅3����	�=�	�+≅�≅)

∀�������+?Χ�+Χ+≅�≅������	�	����������������/�����������
�
−����/)���	�
��/��1��������	����
���	�	�

�	

����	������������������ �����	/���� ��

�������	��	������ � � ����	���
�����������6���	��	

����	�

��	������	�	����
�	������������//	���)

%	���������	���6���	�Ε�������	���������	��	�Ε���������
	�����
�����	�6������	����������
�	���

����/�������	�/	��	�����������9Ν��	/
� � ����������	���
�/����	��	��������	���6���9	�����������

��

���	�)� �∃�
	���
���6���	�Ε������������
�66��������������	������ ���������≅Χ�Χ+≅�����

��

�����	��	�	������	�����

���������	�6�Ι��	

���=�����	

����	������������6���	��
��������������

���/	������ � �� � �	��	�� � �������=�
	 � �� � ��Α�����	 � 	�	����
	 � �������� � �	� � 	��	�����	 � ��
�	���

���	/������)

��� ����� ��	
 � ?Χ∗Χ+≅�� �����) � ∗+� � 
����	 ��������	��	 � �����	��	�� ��

� � �����	��	 ����	���
��

��	�	�����
����
�	�������/��������)

∀�������+∗Χ∗Χ+≅���
�������	��	������	��	����������������	����������	��
���	�
�66�6���	��	��

��
�	������������
��	�����	/��6���	��	����
�	���/	��	�����Ι�
�����������	��
	������	���	���6������	�����

����������
�������������������	�	�����6���	��)∗∗��	
��∗Χ3Χ+≅��)

∀ � ��
�	�� ��� � �	/���� �	��	������ �9�����	���	�6���� � 
� ���������������	�6� ��	

� � ����� ������
	�

�	

�	������� � ��� � 
	 � �����	���6���� � /�����9	 � �� � ��	�	�	�6� � �	�	���	� � �
 � �9	 � 9� � �	���

�	�	�����������//������	�����	/
��	
�=���������/	����
�)

����	������	��	� �
 �
−�� ��/)���	�
��/� �1���� �9�� ��������� 
�������	��	����/	�������	� �
 �%���) �1��)�

%��	����� /�������� ����
��	��	

������������ ����/	���6���	��	
�������

	���	�	�����	�
�66�����

�	

���	�������	��	�����/	�������	�	��	��

����	���� �����/������&�	�������
	/����
	�1��
�

!�6�� � +≅≅<;+≅�∗8 � ������ � �
 � ��	�	�	��	 � ����/����� � �� � �� � �������� � ���/����� � �
 � ���	 � ���

�����	�	�
��������������	
	�
��
	�������	

��
�
��	
����	

�∗�


∋	

� � ��	������ � �
 � 
−� � ��������� � 
� � ��
���6���	 � ���/����� � �� �+��		 
 �� 
 ��/������������	


�	��2��	�
�	���

	

���
Θ��	�����/�������	�
��������������	������
�%���)�1��)� /���������)�)�)Ρ ���


�������	
�	��2��
��
��
	��	�
�∗
�����9Ν��������
��	
���2�����
��
�	�
��������
�	���
����	�	��� 


���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+≅����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

Θ����	�	�6���	���	���6�����	�����	��
�	���	��	
����/	��������������
�%���)� /�)� /���������)�)�)Ρ �

���
 
�����
���
����� ���
	�
����� 
��� 
 ��
	��	�
� 
���
 �� 
/���	 
��/�����	 
 �� 
���
��	�������	 


����������� 
����	
��
���
�
�	�
������
	�
�� 
���
	���
���	
���
������	
�� 
 ����	�	
�	��� 


��
	��	�
�∗33

∀���	/�����
�������	��	����/	�������Ε�������������������/
��	���������
�������	

������	�	�6���	� �

�	���6�����	�����	��
����
���6���	��	
����/	��������������
�%���)� /�)� /�������������������	��� �

��� ������������/���������� �
 �
−��	� �
 �����) � /������ � ��	���Ι � ����	��� ���������	� �
 �
−��9��

�9��������9	�	����	�	����������
�����	��� �+�������
�
����	
��	�
	
����	

����
	
��
��
	����� 


�	��2��	�
�	���
#���
4	�����
�	��	
��	
���	��	
����	

����
&�∗
�+∗

∋	

���=���������
	����������Ε�������Α�������	��������9	�
	�����	����	������������
������	����	�

�������� ����/	��� � �� � ���	==	�� � ���������=���� ���
�	� ���	������������ ��	� � �	��	�	����/��	� 
	�

��	
�	��	/�	���)

∀
����/	�����	���������Ε�����������	/������

���������	�6����������∗�;�≅;+≅��)

!������	�	�6������	���6��Ε����������
����
��7����	�=�	�+≅��Ι� �����
	���������	�
��%��	6���	�


	/����
	��	����0	�����
����
��	���	��//��������	
�!�6��������������)�≅≅≅≅≅<.��	
�+�/	������

+≅�+� � 9� � 	���	��� � �
 � ���	�	 � �����	��
	 � �

����	��	��� � ��������� � ��� � ��	����6���� � �	
����	>�

�

����	����	�����	

�����	����

��
�	66���	

	���������	�����	��	

����	������
��������	�����	

��

������ � 
��/� � �
 � ����	 � ����	� � �

��
�	66� � �	

	 � ���������	�� � �	

�	� ����������� � �

��//	����

�	�
�66������
�����	���

������������	����������	

��������
�����)�

∀
�/�������∗��	==�����+≅�+����Ε��	����������������	������	���������	

������	�	�6���	���	���6��

�	� � 
�	���	�	� 
��������6���	��	
 ����/	�����	��������� ���������������	������ 
	� ������6�����

��	��������	��	

���������	��	�6�)

∀
����	�	��	����������	

��%��	6���	�
	/����
	�Ε����������������������������)�≅≅≅∗33∗��	
�+≅�

�	==�����+≅�+Ι�����	���������Ε������������������
����/	����	�	�������������6��������
�����	����

�	

	���	����6������	

���������	��	�6�����0	������9��	��������	���	��//�����������	��>�+����&


	��	�	 
 �����
� 
 �� 
 �	�	 
 �� 
 ����	

� 
 	�	��
���� 
 /���	 
 ��	��������	 
 �2��� 
 �� 
��
	����� 
 ������ 


0�	�	�����

����
�����
��
	��1
�	�
��

��

��	�
�
�	�
�����	

�
	�
	���
��
���	�
��	�
�
0�
���	�� 


�	��� 
 ����� 
 �
��

���1 
 �� 
 �
�����	 
 �����
����	�
	 
 ��

� 
 �� 
 ������� 
 �	��� 
 ��������	 


�����
	

�����
	
�	���
����
��
��	���
.���&
	��	�	
�	������
�
�	�
�����	

�
�����
��
4��
�	��� 


#��� 
4	�����
��
+
���	��∗
�� 
������
	�
	
���	�����	� 
 �	������	
�
���
�����
 �����
��
	
 �� 


�����
�	�
�������
∃�
��	�����	
����
�	
��	
��
��	�
�
�	�
��
	�����
��
���	�
��	�
�
���
��

�
�� 


�	�	
��
������������
�����
���	
��
�����
��	
��������
��	∗�

++���	�����	�=�
	�����������	��	��������������+7Χ≅.Χ+≅�����
�
−����/)���	�
��/��1����)
+∗���	�����	�=�
	�����������	��	��������������∗≅Χ≅2Χ+≅�����
�
−����/)���	�
��/��1����)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+�����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

∀� � �	/���� �� � ��
� � ����������	���� � � 
� � �����	��	 ����/	������ � ���������� �9� ������	���� ����

���	/���	�	���//������	� �
 ����/	���� ��	� ��������	�/
� �	
�=����� �	�	������ � ������������Β�	��

��	�	�6������
	�������6��������	���	)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�++����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�9��������������2���1�
�

��������


	�	�	����
	�������6���������	���	��	
�∆�����	������	
������	��

�����/	���6���	:��������

�
���	�	�	��	�������
�����	����	�����	/������

	����9�	��	�����
�	���

:���	�����	��

���������
�

����/�������	�	�	��	���
:�6���	����/	����
	����Ε����
��������	������������66����	���������
����>

• ��6����
�66�6���	��	/
��∆���:� ��������	/
��	��������9	��	/
�����6����	�����

• ���������6���	��	

	����6�������	�����9	� ������/������/�
������	��

• �	����6���	����∆�	/��:����/	����
�� �� ��������������
�/��	������
�����	����	����Α��
������	�


:���	��	���)�

∀
�����
	�����	

:	����������������
	����Μ����	����	��
���
������������	��	�����������Β�������ϑ�

���	����	��	 � 
	/��	 ��

	 � ���6���� ��	
 � ������ ������ � ���=���� � ���	������� ���� � 
� �����Β �	� � �
�

�	��������) � !� � ���6����

:��	���� � ����/����� ����	��������	�� ���	���� � ��������	��	�����	�

���������
	������������	��
�∆��
������
����
	:��	�������	��	�����������Β�	�
��	��
���
Α��
������	�����

����	6��������	����/�����9	�����	�����
���	����
����9	����������	��	�	������	�	���������9	�

Α�������
����	�����	��	�Β�
�������9������)�!���	��	�=�
��Β��	

��∆�	

	��	�����:��9	����	��	�


:����
��������	�
	���	��	��	�Β��������	����
����	�6���	���������	��	����∆����9�:�������������	�

������	 � ����� � 
� �/���������	/
� ���=��� �	��	��� � �������� � ∆� ��	��	:> � �
 � ���������	� �������9	� �
�

�	��
��	��������	� �����Β ����Μ ��	�����	�	 ����
���	��	 � 
� � ���6���	��	��� ��9	���������� �
�

���	�� � ��������	�� ��9	� ���=����
	���Ι �	/
� ����Β����Μ �������� ����	����	� �����	//������� 
	�

	�	�/	�6	�	��������	������
�	��	
����	��������	��������/����	����	�����	��	����������/
�����

�	
�����������������������	������������������
	�������������Β�∆�����;�	����:��9	�
������	�Β����

�����	���	���������	����6���	�	�����	�����	/
� ����6�)�!	������
���9	��
����/	������	�	�	��

���������	���	����������9	��
��������	��	
�����
	����������
��	��������������	

������	�����

������	�������������������	�������������	���6���	��9	��������	��������������
���)�∀
�∆������

�������:�	��	�������Β����9	��
�
��/����	����	�����	�	�	��������6�����	��	���6��Α�������
����	��

���	��	�Β � 
� � ��� � �9������Ι � 	��� � Ε � ��

����� � �� � ��	�	�6� � �

� � ������	��� � =�=
���	���

��=�	���
	�	�/
�����6����
����6����
��	��	�������������������������������∆�	���	�����������:��9	�

�����	����6���������	���6����

������Β��������	����	��	���������	��

:������	����������	�
	)

∀
�����
	�����	

:	���������������Μ�����	�������������Β���ϑ��
��	�������	�����	��

:���	�����	
�

Α��
	 � ���
�����	 � 
� � �	��
��	 ��������Β ��� � �����
�� �	� �	�����6���	 ��	

	 ���	�	 ��:���	� ����

���	��	�Β��
��	����	�������
����
	��	

������Β�����������������
�66��	�
	��������Β���ϑ���	����	�

��

:���	����������Β)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+∗����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�9.�� ��#��2�����
����2����−�

!������	������/	����
	����Ε����������������	�����	��#�����−��9	����	���	���������
�����	
�
��/��

	��	�	��������
��������∆�����:��	

:�//	�������9��	�������)

#�
��1��−�Ε��
�
����	���
��	/����9	��	�����
:��	���	
���������
��/���
������	������	

:	��������;�	��Ε�

���9	 � 
:	
	�	��� � ���	���� � ∆����	: � �9	 � �	/��
� � 
� � ��� � ��	�	�6� � ��� � �	������	) � ���

����������	��

:	���������	

��∆��
���	��9��:�	����
�/������Α�	��������	�	��������Α������

��=��� � 	 � Α��
�������� � 
� � ��� � �� � ��� � �� � ���	���� � ����	�	��� � ��/���Β � ���9��	��������

�

:��/�������	��
�6��)�

#
����

�−�Ε��
��	/����	

���	��	�=�
��Β�������;�	��	��������9	������
���
�������������
	����������


:��=�	��	��	
������:�������
	���
��������	�
:��=�	��	��	
�∆�	����:��������66������
����	��)

�� �����������������������������	��;�������	��	� ��9	���������� 
:��/����������/��������	

:	�;

�����������	�6�����������	�
���������������9	������	�Α���������	/���	����������=�
	)�

5�	�	��	�
�66������������	

�����
��	

	����
	/����9	�
��������������	�	�	�
:��/��������9	�

����9���������	�6������
���
���	
������)�∃�
��	
	�	�����	�����������������������∆
�//����:���

���������	

���������������/������)

#
�������−���	��������
:���	�����	���	����������
��	����������	
������>�Ε���������������9	������	��

��	�
�	��	���������	��	�	��������	��	��
:	��	��������
:���	���)�������	���
�66���������	�������

�	/��������∆	������:���	��	����Α����
��	���9	���������	��

:���	�����	
�������������	������
�

∆����	:��	

����	���)�

#�
� ������− �Ε��
�����	>� �
 �����	��	

:	��������������9	��
� ∆����	:����=�
�����	
���������� �����

���������	�����	�
	��	����	��
	������	��
	������	���6������
	�����6�	)�

#�
� 31���−� Ε � 
:��=�	��	 ���� ���� � �
 ����	� � �� � �	
�6����> ��� ��/�� ������ ��	/
� � ���6� � ���	��� � ���

�	��	����	�
:��=�	��	�	��	���)� �����	����
����	����������8��9	�9������
����������	�	�������

������8��	�����������	�����	���
������=�	���
������������������
������)

�9./� 31����������������

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+3����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

∋	

:��������� � ��6����
�66��	� � � �
���� ��	����
� �	 ��	���
��� ��

:���	�����	

:��	��	� 
��/�� �
 � ����

�	���	��������������	��	�����	��������������	��	�� 
	����6���� �	�/
� ����	������	� �Α��
������	� 
��

����
�/����������6���	��	

:	��������	��	

	���	��	����	�6	)�∋	

�����	���	
������	�	���������� �

�	����������	����	��	�������� ������	�����	
�6���	�����
	����6������	/
� ����6���	�����Ι�Α�	��� ������

����� � ���6��
�	��	 ����������� � �	
 � ���	/��� � ���	/����� � �	
 � ���/	��� � 
	 � ������6���� � �	

��

�������	�6� � 	� � ���	������������ � ��	���	��	 � ��� � �
 � ����� ���	�������� � ��
 � � %���) �  /�)�

 /������+3��	��
	���		�
�������	��

�	���������//	�����	
���	�	��	����	��	���)

!:���	������������
	��
�����
	�������Β���
�
����������	�����	��Β��	���	66���	
�������	

��

	����	��	���
 �����	� ����	���9	���

	/��
���	������	����	�6���	

�	�;��������������/
� ����6��

�	��������������9	//���	������
������������������	���	66�����������������==
���)

!���	��	�=�
��Β��	/
�����6��	��	������������	�
	����6���������	���	����Β������Α�	�����
	���	

��

��
���Β����Α��
������	��
�������������	

����������	
�����������	����
��/���������/
�	�6����

�	���6����	

���������Β�������	�����������	�	���������	��

����������6���	)�

!��/� � 
� � 5�� � �	

� ���
�� � �����
� � ���	��� � ������	��66��� � �� � �������� � ��������� � ���	��� � 	�

�	����
����������	�
����	�6����������������	�	��Ε���������	������
����	�6���	����������������

�	��	��� 
�	�	��	��	�6���������6���� ��� � ���
���� ��9	��	������	� �
 ��	��������	����
	� 
��/�� �
�

������������	

�	�������)�∀������������	�6���	
�=����������������	����������	������	/
��	
	�	����

������������	�����	���	�
����������	
��//��������	66�)

�9.6� �
��1��������������
���1������������

∀
 � �����
� � 	������� � �����	��	 � �

�	�;���������� � �� � �	��� � �	������� � �� � ������� � �����	�Β � �
�

∆=��Χ������ �������: �	����� �����������Ι � � 
:��	�� ���	������	��	�����������	����Β� ���6���� ����

�������������
��=�=
���	�����=�	���
	�	�/
�����6�����	��	)�

!���=�	��	 ��	������� �� � ���6���� ��� �=��Χ��������� ����Β ���	 � ��/�	��� � ��
 � ������ �	�� � 	 ������

�	

�	����������	���	� �
 �=
������	���6���������	�=�/�������Β����	������

�	��	������
 � �������

��	�������������
	�������	��	��	�	�����������9	���

	��	����	��9	���������
�������
���������

Α�������
����	�����
�=���������9����)

 

�	��	���� � 
��/� � �
 � ������ � ����� � �	��Β � �	�
�66��� � �� � �	�/�
��� � �� � 
	/�� � �� � �����	��

�����	�������	���������������
���

���	�����	
�=��)

�9.7� ������
�22�

4
�����6� ��	�� 
���������	���	���
� �����������

����� � 
��/���
� 
�����������

�������	

����
��	�

�������� 
������� �� ������ 
�� �����	��	66���	

��
�	��������
	� ; ��> ����������������� ����	�������

+3∀������������

����	����������0��������������/�������� � �	��/	�	� �
 ����/	�����∀���	���� � ���� 
	���Α�	> ���

����
��5	��9���� �
�����/����8�����	�	��	��
��	�	������&
�1��
�!�6���+≅≅<;+≅�∗���������������	��
���	�	��	����/	���)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+.����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

��	/���	��

������6���	�����	����	��������	�����=�
��Β��

���/�
�����;��	���������������Β��	
�

=���	� ���	�������������

���/�
�����;	��Ι��������Α�	������	����������Β����9�	�������	�������

	 �

�	����	��������	�����=�
��Β)

,�	��	���	���		��������9	//��������������	�������	�	����Β��	��	�	���������	����	���		����

������;���������	���)�

�9.8� 
:��3�;������

∋	

� � �	����6���	 ��	

	 � ���6���� � ��	�����9	 ��	/
� � ���6� � ���	���� � 
	 � 
��		 � /���� � �9	 � 9�����

�	�	��������
	���	
�	�������/	���������������
�����	��	
��	�����	

����
���66�6���	��	

	�������	�

�	
��	�����������������������������9	�
�/������Α����	��	

:���������6���	��	/
��∆�����������=�
�:�

����
�������
�/����	/
�����6��	����	��������9	�����	
�6���	��
��������������
:	��	���)

∀���������
��	����Ε���	����������	�
�66��	�
:∀�������
��	

������	�����;	����	

:	����������������
	��

��������������9	��
������
������������	����	��	)��,�	��������	������	�	��	�Β�
:��/�	�����	���

	����������

:���	����������������������������	�
	��������Β�∆/�����
�	�	:����9�	��	���

�����6���	�

��	������)

∀��Α�	������=�	������
��	��
���������������������	��Β���	���������9	�
����	�6���	�������������

�������;�����	���6���	���
���	���
	����������6��������	��	�)�5	��Β�Α����	�
�66�������9	����

���������	��
��/	�����	��	

	��������Β����	��	�	��	���6���/�	������	���
���==
���)

!:��������
���9	����Β����6���	�����)∀)∃���	��	��	�Β�������	�	�	����9	��/
�����6�����	�
���
��

��������6���	�;����������������������
	�;��	��Β��	/�
�����	������
	�	��/	�6	���	�����9	��	

	�

	�����6�������	�	�������	

	��������Β���������9	�	�����
/����	����/������	)

�9.9� 
��#��������
������−���
��1���

!:	������� � �	

:��;��������� � ��	�	 � ������	����� � �	� � ����/
�	�	 � ���9	 � 
	 � ����	 � ���6�����

���	�
����
��	����������������
��	������)�

 

:���	��� � �	
 � ����	�����	 � ���� � ��	����	 � ��	 � ��
	 � 	��������	 �������� � ��� � ��
� � 	���������;

��
���	���
	� � �� � ���	������ � ��//���� � 	� � ��� � /����	 � ��
� � �:��/�	��� � ��� � ���6���	�

������/������ � �	

	 � ���	��	 � �	����	�6	 � 	��������	 � ���	� � �������;���9	�
�/���� � ��	��

������
������;��������������	��������
������;�	/	��6����
	�)�

∀
����������	�	���	�Β��	
����	��������	�����
��	��������9	����	����
�������	

����
�����	� ����	>�

Α�	��� ��	������� � ������� � �
 � ����	� � �� �����	��	�Β ���� ��� ��������� � ��� � ����� � 
� � ���	��9���

����Α�������������	��
����	���)

!:��	� �	��	���� � �������� � ����	��� ���� � ���	��� � �������� � ���=������ ���� � 
:	
	�	��� � 
�Α������

�	/�������

����	�6���	��	

	 �����9	�=���	��9	��������������������	��

:��/�	����	�����������

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+7����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���	��� � �
 � �	������ � �	����
	) � !� � ��	
�� � �	

:	
	�	��� � ��Α�� � ���	 � ��
� � ���������	� � Ε�

���	����	��	 � 
	/��� ��

:��=��� �������
������ ��	� � ∆���	

� ��� � ��	����Β ��	
 � 
��/�: ��9	� �����

�������������������������	�	�6������	��	

:��Α�������������
	��
�/9��	�������������������66����

���Α�	���������������	��	�����	��)

!	���
	���������∆���	��:��/���������	�����6�����
	/��	��

	���	���		�����	����	�6��������

�����	) � !� � /����	 � ��
� � �	����
	 � Ε � �	����� � ���9	 � �	� � ����/
�	�	 � �	66� � �� � ��//�����

���	�������������������
�����6�����������	��	�
	�/�������	����	��9	����������	�����/
���	��	��

����������	����)�

��
 � ���� � ��� � ���� � ��

������ � �� � ���������Β � �	

� � ���/�
� � �	����� �� � ∆��6	=��: � �	� � 
	�

��������6������
� ��==
�������	�	���� ����������	���	���

������	����������������	���������
	�

�����	�������

�������	�������������Β���

����������/����	��������	
���������	�
�66�������

=������
�	��)

�	��Α����������	�	��
��������	�����	�������	����	��	������
��∆�	

	:��	
����	�����Β��	�
�66�����

��� � �����9� ������	���	��� ��������∆��
���:�������������������	

�� ��� 
��	

	��� � 
	/����� � 
����	�

�������	 � �� � ���66����
	� � ��������	 � �� � �������� � �	��

���� ��
 � ��� � ������� � ���Β � Α�	

� � ���

��9	����	 � 
� � ������6���	 � ������� � ���������Β � �

:���9��	�����Ι � �� � Α�	��� ����� � 
:����
�����

	����	��	� � ��� � �� � ��� � ��	/	��
	 � �������� � ��� � �	��Β � ���������� � 	 � 
� � ��� � �	����� � ���

���9��	���������������
	������	��Β�����	

���)�

��

	����	������	��	��	��	

	����	���	��������	���������Β��	�
�66����������
��	��������������)

,�	��	����	���������������������	����	�����
����	������	���>� �
����	
����	
����	���
	����	��Β����

���	���������	�	����

��=��	�����������������������	��	���	��������� �����	�����	������
	�

������6������	

������	�	��	��������	��	�6������	���	����������

��%��	6���	�
	/����
	��	��

��=	���	�
	��������Β���
����
���	
�!�6�������	�	��������	�	�6������	���6���	
�/�������∗��	==�����

+≅�+)�

!	������	���6��������	��	������	��	6���	��	��
���
������	���6���	��	������������������	�
�66��	�

����	�	����
�������)

∀���	������/
� � ���6� � ���	���� ��	� �����	����	� �
 ����	

���� � ��	����Β��	
 � 
��/���� ����9��	������

���������
	�����	�	��	������������������������������
������	��

�������=����������/��	��
�����������

�	/
�������
���Α�	��	���������	������������/��������	�����	����	��	/
����=�	�������

���������

/
������������	��������

�����6���	���
�����66�6���	�)

�9.<� 
��#��������
������−��
��4�4
���������4�����
�∀�

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+<����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

4
����=�	������������
����������	����	

:	���������	����������=������∆=�=
���	�����=�	���
	:���	�

� � �������� �������� � 
� ������=�
��Β ��� ������
���	 ���==
���6���� � �� �����9�� � ���	��	� �=�����	����Β��

	�	�/�	����=�
��Β����Α�����	��������	
���	
����
������=���	�����
�������)

,�	��� � ���6� � �� � 
	����� � ������� � ���	���=�
� � ��

:	��	���� � �	��	��	��� � ���Μ � 
:���
�66� � �	

��

���������� �����	��	��	�	��	���

:��	�������	
 ����	���������� �Ε������Α�	�/������������

��

	/��	�������	����)

&
��	��

:��	��∆����/
�	�6�:���9	�������	���

:��/�
��������	���	�������������	�	���

:��	�����

�	����	�6� ��	
 � ∆����� � �������: � � � ���� ���	����� � ���6� � �� � 
	������ ������6���� � �� � �����
��6���	�

������������ � ��� � ���6�� � �	� � 
	 � ������
����	� � ��� � ���6�� � �	� � 
:���	��� � �������� � �

��

�����
��6���	�	��	��
	���������	)�

4
� � ���6� � �� � 
	����� � ���� � �	����� � �	� � ���	� � 	��	�	 � ������ � 
�=	���	��	> � /����� � �	����	�

/������������
���	��	�=�
��Β����	���Χ	��	����������������9	�������)�

�9.=� 
��#��������
������−��2
����������

∀�����	Α������Α���������=�
��������	�	�������9�	��	���	
���������/
�������������������/	����������

�������
��	����	�6���	��

:�����	

	�	�	�/�	��������=�
��	��
�����	�����	

:��=�	��	)�

!	 � ��Α�	 � �	� � 
:���������	��� � �	
 � ����� � 	��	���� � ������� � �������	 � ��

� � �����
�� � 	�

�������	�����	

	���Α�	�������	��
	�Α��
���	�����������������������	��	��	�����	�����

���∆����������������	���Α�	���	�����	������	��	������
�	�������������	�������	���������������

�����	�6� ��

	 �����9	�	��	��	 ��9	� ��

:������	�6�� �����	==	�� ����9	� ���6�����	 ����	�

�����������������	����6���	��	

	���Α�	��	�
�	)�

!:��������/�����	����	
	����������Β����	�	��	�
�66�����	�����	�����6�����	��������	/�
	�

������
����9	��������∗≅��Α������	���

����
��������	
���	�����	
����	�)

�	��
:�

�����6���	�	��	���������	�	�	�
������������	�������������

��������������
�������������

6���������9	���������������
�	
	�	�������9��	��������������������Β������
����	/����	

�����	�	�

=���	;��
	�
 � ��
 � �����������Ι��	����������9	�����6������ �	
	�	��� � �

�������� � �	/��;��������

�	��������9Ν����Β��	�
�66����
��

�����6���	���	��/��������	

	�����9	�����Α��)

∋	/
� ���=�	��� � ���	��� �� � �����	

�	�����	���9	��	
 �=��Χ������ �������� ; ��	��Β� �	�
�66�������

����������	���
������=����	

������	�����������������
�����66�6���	)

���Β����
��	��	�
�66��������������������;���������	��
��	��

�����������	�	;�����	��	
	����������)

�9.>� 
&������������

���(����

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+?����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��


 � ����� �∋�����
	 � 
	/����
	 ��� � 0�������� ������/���� �Ε � ����� � ���������+.� ��� � 
� � ����� ����

/�������	 �	 ��������	�	 � 
� �����	���6���	�	 � 
� ���
���66�6���	��	
 � �	�������� �	 ��	

	 � ������	�

������
��	���
����
���	
������������	��������	����������=�����)

4
� � ���	��� � �	/	��6����
� � ��	�	��� � �	

:��	� � �	������ � ��

� � �������
��	 � �����
�/�� � �	
�

�	��������� ���

� ��������������
�������	���

	 � ��	�������	������9	��
������9	) �!������	�	�6��

�
���	�������9	��������������7≅�	���7�≅����)
)�)��∆
�����
��������	�	������
����	�	�6���� �

��	��	 � �����9	 � �	

� �����9�� ��	���	����	� � �	

	 � ��		 � ��ϑ � =���	� � Α�	��	�� � �	�����
� � �� �

���	�	

����	��	�	�	������/�	����	

	�6��	����	��	��	�	��	

	�6��	���ϑ��
�	���//	�	)

∃�
	 � ����	�Β � �	/	��6����
	 � � 9� � �	�� � ��	�
	 � 
:9�=���� � �	� � ��
������	 � ��	��	 � �����
� � 	�

����������� ��	� ������������	��	� ��������/�������� ��9	�����������	��	���	��� ���/
��������

	�	��
���� �� � ���	

� � ��Α������ � 	 ��	� � ���	���	 � ��	��	 ��� � ��
���
� � ��Α������ � 	 � ���	���
� � ���

���	�	��	���������������9	�9������������	��/���	�
:��	�����	�(�����������	6���	���	���
	�

�(��������	�����	

��%��	������−��	

��<2Χ3≅2Χ���)

�� ��� )�������������!∃������%�;�����������∃�

��∃�%%���%�	����
��	∋���9	������������������������������ϑ�	��	������	�����	�������//����	�	����

��������
	��������6����������������/
�	����	�
�����	�	

���%�	����
���	��	��������������	���

�∀�
�5�
�������������������	

���6��∋����
���������
���������
�������	�=�/�
�����!	�
��
���
������)�

 
��	���		���������	��	��������������=����/
����� ����/��
���������
��������� �=�����������

�����	/�� �����/Ο���� � ������
� � ������� ������ ��	���	 � 
� �/��	���� � �	� � ���=���� � ����Ο����

����������	�
��/��	����������	�����������Σ���	����9�������
���66����/��������	��	���	�
����

�	/���������/
�����	���)�

�∃ �%����� �%�	���� 
�	����� �Ε� 
��Α�	�������ϑ����������	

:��	��	��� � ��������	�����������������

��=���� �	��	�=��		��� ����	��	���	��	�����������������	> �!��	∋
∀���	����� � �
 �/�/
��� ������

�(�����
������	����� � �
 � 
�
�������	
����//���	��−�
�	�����
�������� �	��
���	����9��		����	�

!	������
�	��
����������� 	 ����
��
�	��
�������
��) �!�����������=��	�����	����	�Ε������������

���	�	�������������	��� � ���=�����	������ �����	

�� � ��//��� �6���� 
∃5���
���� �	 ������/���

�!��
��	�
��
����

�∃�%��������Ε���ϑ����������	
��	����	���

����	�����∃�	��/�����	�0�������
������	�����������	�

��� � /����	 � ������� � �	� � � � ������ � �����	��� � �	
 � �	�������� � �9	 � �	 � ���//��� � ��� � =�����

�����6���	 � �� � 
	/���	) � ∀
 � �����=���� � � ����/
�	 � 
:��	���	 � ���	������� � �−�	���	


���	������� � 
� ��	����	

� � =������� � �#	��������� 
 �	�	������ � �	����� � �	� � =���9� � �6	�
���


�	
	����5����� � 	 � �	

	 � ��		 � ��ϑ � ���/���
� � 
� � /��	���� � /9�����
��� � �−�	��������


��������
������
������������
�����!5
����
����������	�
��/��	������	�����=������!5
����
����������)

+.�
�+.����	�=�	��222�����
	//	��	/����
	��)�∗7

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�+2����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�∃�!�������9	����	�����
�����������ϑ�=���	�����	�����

	�Α���	����	������9	����������6����	

��

����	���ϑ��
���������
��	����	���
������/���	����Α�	

	����	����������
:����	

���
:��	�����������

�−�	�
��	������
�������
:��	�������	���	��−�	�
����	�
�	���
:�/����/
������	∋
�/������������
�

�������	

� � �∃����� 
 
����������� � �
 � ���=� ����	����� � �∃����� 
 ���	�
����� � �
 � ��
�	/�� � �������


������� ��
���� � ������������ ��
�����������������
�������) �∋	

�����������=��������� � ��������

����������� � 
:�/����
��� � �
 � =���������� � �!��
�	��� 
 �����5��� � 	 � �
 � ���/����� � �,�����


����	�
���)���ϑ�
���
�66���������
�����/���	

���!�����
�������	�����
�������
���!�����
�������
�

������
������Ο
�����	

�������
�
�/�������(����
���
������	����
����=�����∃�������
��������	��
�

����������	��,����
�����������)�

���������������������∗����∃�

,�	��	�6��	����������������	���	���=����
����������
����9	�����	//����/
����=�	������Α�������	�

������������������	���=���	����
��������
��������	�	�����

: ������������	�	�����
���������
	�

����	/����

�����	����Β��	

	���	��	)

!	���������
	��������6�������������������	���>�=���9	���������������	����−����
���
�����������

�������������
�����������
��/�����������������	�����������
�������	��	���/
�	���������
��������
��	�

=�������∃���∋
���������
��	��������∃���∋
������	������	�����=�	�����
�������/��	������	�����=������

=�����������	��
���	���	��	����������
�=�����)�Ι��������	�	�������9	������������	�����	

��

�	/	��6���	���
����	�	����Α����������	� /���	
��
�����
����	�7�����
����	∋����!��	∋
���������


�������������
��	��������
	�
���
�����)�∋	

	�6��	�
����������ϑ�����Α��

	�	�������//	��	��

	�

����	�������
������������������Η�������	�
��
	�����9����:��Α����(	���
������������

���	����

�4������	���
����������	����−�����
����������������������
���	
�	���Α���������

����	��������
	���

����9������/�������+≅≅+�)�

2∃���∗������������;�
�����∗������)�∃��

���������Α�	�����/
�����6�����	��
���������	�����	����
	������	����	�6���	

��������∆������

�	
������:)�

!:���	�����	����
	����	��Β�
��/���
�
����������������	�����
�������	

����
�����	� ����	��9	�

��

	/��
:��	���������Ε���	������
���	�
�66�6���	�����������9	//���	��������������	���
������	���

�� � ∆	�� ��	66�: � ��������� ��� ����/	���6���	� � ���	�	��	 ��

� � ��	��� � ∆���/������&�	������:��

���	/���������
��������	����������) �,�	�����	�����������Β������Α�	�	��	�	 ����
�66�������

�	66���������������	�	����Β����������������	���
�����	�
����	66���������������	��))�)

,�	��� � ��=��� � ���� � �	����� � ���	 � �	�
	 � 
��/� � �� � ������� � 	� � �������� � 	 � ��� � �	��
��	�

�	����	�6���	
����	�)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗≅����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

∀��	��������������	�������	���=���������������	��
�����	/�6���	��	�����	����=��������	
�������

�������9���������������
�
 �	�

��
����������������

:��Α����9	�
	/��	��������������	�
	���	
�	�

���/	����
�)�

!:	�����	�����������9�����	��==�	�������������	�	�	�	��������	�����	�
	�������6������	�	�����	�

�
����������	��	�������������	������	�
	����	�6��
��Β��	
������>���/
�����	����������
���������Α�	

� �

������	�	��	��������;���9	�
�/���)�����
	���	��	�����
��Β�
:��	��	��	���������	�Β��������������

������������ � �	

	 � ��ϑ � ������	 � �������6���� � �	/	��
� � �������		 � 	����	��� � ��
 � �	���������

������	��� � � � ���	��� � ��=�	��� � �����;�
�������> � ��=�	��	 � �	���� � ������ � ��
����	� � 	��)�

������	�Β�Α����� ���� �����6���	�����������	 ��	
 �����	��� ��� �����	��
	 � �������	���	����

������	��� � 
� � ������	�6� � �	

	 � ����	 � ����
�/�	 � �� � ��� � �� � ������	 � 
� � �	/	��6���	�

�	���	����	��	���
����	���	

	�����	����
��� �	������������	������������	��������	��
	�	�

����/
�	��	��	��Α��
���������������������	)

�	� �/
� � ���6� �	��	��� � �� ���	�	�	���� �����
������������	� �	

� � ������� ������������Β��	
 � ����	�

�����	�����������	����������	�����	��)�

!������6���	��	

�����6���	��	�������	��Β�������	�����	�����������	�	�6������	�����	���
�>�
���	����

���=�
�66�����	����	��������	����	��������	
��	��	�	��
�
	/����	��
	�����	�	

	��9	�������	������	�

����������� �
 �=�������:��Α��) �,�	��� �	
	�	��� �Ε� �������	��	 �Α�	

� ���	��������	� ���

Α�	������	�����	�
	�	��	��Β���
���66������

����	�	�6��������������
�����	�������������

�������6����9	�����/
�	�Β�	�	����������
��	������������������∆�	���:��9	��//���/	�Β��

	�

�	��	6������	������
�����9	�Α�	

��������	���
	��	
�∆��������:��	

:��Α�������	��	)

!���	����6���	��	

:��Α������Β����	���������
:���	���	�����	

	���������
����	��	���������	�


���������������������	��	�	�/�

	//�����������������Β���
�����	�������	������9	��	

���
�����	��


�/9� ��� � 0�������� �	 ������/����� � ����	 � 
	 � 
	�����9�	 �	 � 
	 �����		� � 
	 �����	 ��� ���
��	�

0�������
	�
��������1
0�5���
��
������1
)�

���∃�����������������(���%?��

!����������6���	��	

	���������
���������6������	/	��
� ����	��Β�����
�������6���	����∆����6	:�

�	�������	��)�∀�������������������	
�����������Α����	�����	�	��	��

������	����	�������	���
	�

��
�������	������	������	�	��� ��� ��������6���� � �������		� ���
 �=������

� �����	���� �����


:���	���	�����	

	�����	�����	�=��
�/��9	>��
=	������=������	�=��		)�

∀���
���������� 
	����	�����/�==����	��

���������������
�66��	��	���	�
�66��	��	/
��	�	�������

��
������	�����
	�����
:������������	�	�=��		���������	)

�������������	�	���������Α�	��������������	������=�	����������
���	
��������	
������������	����

�����;�
��� �	����	��� � 	 � ���Β ������=�
	 � ������	 � � � ������	��� � =���
��� � �	� � ���	�	�	 ��� �����

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗�����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

����	����� �	 ���ϑ ������������� �������	�6� ��	
 ����������� �������
������ ��� ���Α�����	 � ��
�

�����)


 ��	������ ���������������	��Β ���		 ��� � ��������������	

� � �

��������� ��� ������������	����	�

�	�9	��	��
	�	��	��	�6	��	������
���
������	�������	�	������
���������������	�����	

	�����	���	��	�

������66��	��������	��	�	�
������
�����Β���
�����	����	�����	�6���	��
�������������	

:��=�	��	)


��%����

!�����	��
�	
��������
�/��/	��	����������
	�����9	�=���	���������������������	����6���	�

	������=����������������������	��
�
��/����	�
	��	���	��������	���

:��	������������	

��∆����Β:�

	������	
���
�����	�)�

5	��Β � �	�
�66��� ���� � ��
	��� �/�������� �/	����� � �� ���	�� ���� �=
���9� ��� � 
��	��6�� ��	� � 
	�

�������	��	���	����	������������	��/������)� �!	����	�������	����������������	�	�����	//���	�	�
	�

�	���	����������������	�����)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗+����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�<����������������

������2��������
�5���

4
�����	��	�������/	����
����������	��	�	����������	��	����������������	���������	/���	>�

� 
�����������	/���	����	������6����
�66�6���	��	

���������	
��������	�;����������

� 
�����������	/���	����	������6����
�66�6���	��	
�0����	���������

� 
�������������	��6���	�	��	���

�<.�� ��������
������∀�
�5����������21�����������31������
����������

��≅)�∃�!�%������� ���∗���∗����

!	���	�	��9	��	��������	�
�66��	����	�	��	�������������������	�����	

�	���������	

�	�;���������)�

5	������������������	���������	�	�6���

	��������	�	����	���������	

�����
��������	��������
���

�	����Β���	��
����
��	����������������)�∀������9��������	���	���	����	���������������	//���������

������	 �� �=��	 ��� � ��
������ ��	���	 � ��
 � �����	 � ��� � �	������ �����	 � �� � ��	�� ��	

	 � 
����	 ��� �

���	����	���������	���)�

���	����	��	��
��	���	�����	

�	�����������������9�������	���	�����������������6�������������<≅�

�����Α�	��	� ��	�����������6�����	� 
	���������	��� �����	/����	

�����	�	� ��� 
	/��)�,�	����

�	��Β��	�
�66���������������	������	
	�	������	�������������������������/9	����
	/���������
	�

�
����	�������	����66����
�	��	����������������������
	/�������������������	��

�)

!� � �	����	��� � �� � �����//�� � ���Β � �� � ����������� � �	� � 	�����	 � 
� � �����6���	 � �� � ��
����	��

����	��	�����
�
	/�����������	�	��	
��	����������
���6���	���ϑ����/	�	�)

!	���/9	����������������������	�7≅�7≅���	����	�	�	�������������6���	��������
	���	��	����

������?≅������������������/��������������Β��	
�3∗Π������)�

∀
������
���	

	���/9	����Β���/�������	���	��	��	�	��
���	��//����	

:��Α����	�����	����	��
�

�����//����	

:������������	��	��	�6���9	������������������������)

� ��)�(��������(�%�

!	���	�	��	�	�����	�������	�	�	� 
���	/���	��� ����������	

� ���������� � ���	�	��	������ 
	�

���	���	��	��	�	���
���	��	�=�����	����	��	)�

5	��Β��	�
�66�������������6�����������
	���������	�����	�����������������������	����	��

��9	�

�������	�������	����	������=������=���
��)�

!	 � ��=�	 � �� � =���
�� � ����	//��� � ������	������9	 � �	������9	 � �������=�
� � �� � �	����� � ���

�	����	�6���	��������	�����
�����	
�������Β��

	���=�	�����	����������	�	������������	������9	�

��ϑ� ������//���	> � � 
:���	�6���� � �	�6���� � ������9	��������������Α��� � � ����� �����=����=�
���

9���� � �� � ������ � /���� � �� � ���
��	��� � �	������ � ��� � ��������� � �	�6���� � �9����9	 � �9	�

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗∗����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

������������	//���	 � 
� � ��
��	 �� � 
:��=�	��	 �� ��������� ���� ��
��	 � ������6	 ��9����9	� � �
�

����	�����������2;�∗�Τ���������
������	����	��
�
����	�����	�����=�
��Β��������.�Τ����
	��	��	�����

�����	��	��
:������	
	������	����	�6��� �	
	���������=�
��Β��	
	������	����	�6���

	���=��6������

	
	���� � �	����	�6� ��� ��6���� � �������9	� ������	 �������� ��� � 	�	�/�� �������	 � �
 � ���
� ����

�����6���	 � �������� � ��=�	���
	 � ���	����	 � ���� � �9	 � 
� ������6���	 � ��
����� ������	 � ��+���

�	����	�6���

�����������	����������

:��	�6����9����������������=�	��	��������9	��	=�
�	��	�

�
��
������������//	�������	���	����������
������	����	�6����������	�������������
	�����	
	�����

�	�����Β� � �������	�6� ��

� � �����6���	 �	
	������/�	����� � ������ ��������=�
��Β � �	����� �	��

	
	���������	����	�6������������	�����	/��	���)

!����
�������	/�������Β���������=�������	��	���=��������6�������	
	����������
��Β����=��	����


	/��������	�������Β���66�
�����)�

���)���������(����� ��%�∗���)��

∀
��	�����	

�	���������������������������������	/�
	�������������
	������	��Β����	�	�����������	�	�

����	��
�6���	�	��������	�����������������/���������	��	�=�
�66���	�����������������
��	����

	��������	�����	
��������������	6���	)

� ��)�(�����!)������∃�

!	���	�	��	�	�����	���/����	������
���	��
�6���	��������	66����	����	��	��
���	�
�66�6���	����

����������	66��	�
������������	�������	�����	�����	���	�������������	����	���	�	��9����������

�����	����	������������������	�����������������������	��	����	���)

5	������ � ���
��	��	��
��� � � ������	��� �	����	��� �	 � ���Β � �	�
�66���� 
� ������������	���6���	�

���	��������	�	����
�������)

!�������������
������	�������9	���	������9	�Β��
���������/�	����������
�	��	�������������������

���������� ����	��

�� ��	��Β� ��������	������������������������������ �����
����� ��� ��	�	��������

���	����	����	�	����	�����������)

!	����	������	��	��	��������������	����	������
�	��	��������
����

���Α��)

��%)∗�������)��)���(���∃∃�%?�

∀ �=����� ��	��

������	�	��� ��

����	�����	

�	�;�����������	�����������	���� �	�����	��������	��

����	
������	�
���	�����������	����Β��	
�
��/�)�

!��
�����������
	�����������	��Β�	�����66��������	/����
�����	�����������	��/
���������������

�������
��	��	��
��

�//���	�����	

	�
�������	��	)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗3����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

� ��)�(������(∗��������%�

!	���	�	��	
����	��

���	/���	������������������������

������	��	

���	
�6���	���/
�����������

�

	/�����
����/	����	���/����	�����>

� ��������=�6���	��	�����������
�������	

:�����������������
���	���Ι

� �	�
�66�6���	��	

:�������������	���
�6���	�
�����	����9�	��������������	��	Ι

� ������	��6���	��	

:���������������;���������Ι

� ������	��6���	������������/�����)

5	����������
��	��	�
�66��� � �������� ��� ��
�����66�6���	�� � �������� ��	� ��	�	����� �	� ���	��	��	��

�����������������	66�)

�<./� 4��∀�
�5����������21�����������31������
����������

��≅)�∃�!�%�������∗���∗����

∀�����
�/�������Α��������	�������	��
�	����������������
	���
� �����	������	
������������	��Β�

���	���������� 
����	� �����	���� ��	���	���

	��
��	��������	��	��Β��	�
�66����������	����	������

��������)�!	�����	//�����	��	��������	�
�66��	����������������=��	������
�����)

���)���������(����� ��%�∗���)��

!�����	�������	

�	��������Ε�����������������������������	��//	�����	�����	��������	/�
	)�

!	���	�	���	����	���/����	������
���	��
�6���	��	
�������	�
�������������
��	�����	������

����������������/���������	��	�=�
�66���	)

� ��)�(�����!)������∃�

5	��������	�
�66��	���	�	����	��	������	����	�����	��
�6���	��������	66����	�	�����6���	����

����������	��	��������	�
�66��	�����	���	�	�������	����	��	)

5	������ ����������� � ���6��
�	��	 � � � �����	��� � 	 � �� � ��	�	�	�Β � 
� � ���� � �� � ����� � ������� � 	�

�	����	���)

!	 � ����	//�����	 � ���	��	 � �	������ � �	�
�66��	 � ��� � ������	 � �

���Α�� � ��������=�
� � 	��

	���������=�
�)��

!������6���	� ���������������	��Β���	/��������9	� ���Α�	����	��������������	�
�66�6���	����

�������������
�����66�6���	�������������	���	�	������	����	��	��	�������������������	66�)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗.����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�<.6� ��������������������

�∗��������� �

�	� �/
� � ���6� �	��	��� � �������	����	 �����	���������6���� ��� �	��	�6	 ���=��		 �	����=�����	��

��������	 � �� � ���		 � �	�����9	�> � � �����	 � ��������9	� � �����	 � ��
������ � �����	 � ��Α�����9	��

�������6������	/	��
�������=��������������)

∋	

	 � ����9	 � �9	 � ���������� � 
� � ���	�� � ��� � ���6���� � ��	����	��	 � ��������9	� � ��������

��

����	������	���
�����������������Β�����;�	�������	)

�������������∗��� � ����%�

5	�����������	������	����	

	�/�==�	�����	�	��	��

����6���������	����	��������	���
	���	��	��

�9	����
/	����������	�	�������6����>����	����	�����	��
���������������	����	/	��
�������������	��� �

���	���
��������������	�������������	����	��
����	��9��	�����������������)

∀��
��	��	��������	�
�66��	���		���	�=��	�	�����	��	����������������	/
���
=	��>�
����	
����	

	�

	��	�6	 � �	��Β � ���������� � ��� � /
� � 	��� � ��	����� � �

� � ���	
� � 	 � ��
��/������ � �	� � =	���

��=�	���
�)��

����(�����������������

!	������	���6���� �������	������	�Α��
����9	������ 
	���		� � �	����66����
	�	��	���	����

��=����	��	������)�!	����	���������66����
��������������
�	����������������
	���	������
��	���	�����	
�

�
�//����� �����=���	���
	�
 � ; � �������� �	�
�66��	� ��� �	��� ����=�
�66���� ����Μ ����	� �/
� � ���6� ����

�	�����	�6��	�
	���		���������9	���	����	��	������������������
�������������	����	��	��	���)

!	������	���6��������
	/���0��/Γ�����������	��66	�������
��	����������
��	��9	�����	//	�Β�
��

������	�
�����	����	���	�
	�=�����	�����������	����	�����������
����
���

�)

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗7����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�=�����������

������2���������
�5���

�=.�� ��������
������.�
�5����������21�����������31������
����������

��01�
�3����������������������

�−
 ∃−
 ��%)���∀�∃�∋∃��! ∃&��∃
 % 
����������	������
��	�����	�����
����������	���������	����	���������	���
��	�	����	�����	

�−
 ∃−
 ��%)���∀�∃�∋∃��
�	�
�66�6���	��	
����������	��	���
����	//����������������������=��	������
�������
��	�	����	�����	

∋−&5 �Υ��!!����∃�
∋ Υ�∀∋�! ��!!��%∀�!�4∋&
����������	����	

�������������������	������=�
��������	���
����������	����	������	

�����
	/��
��	�	����	�����	

���21��������������

��	�	���������
����	���������������������
��	�	�����	�	�����	�����	

���1������������������������1��

�∗����∗����������∃�


	������	�������������	�����
%	��
�6���	�������
����������	���������
��	�����	����������������������/���������	��	�=�
�66���	
��	�	����	�����	

���21�������31������
�

&��
���%∀!∀
�	��
�6�����	���������6����
�����	����	����	����	���
���������	�����	//�����	����	��	
��������������
�����������	����	��	��	���
��	�	����	�����	


��−��
&��∃
−∃∃−
����∃ !!∀�#��∀∋∃�
∋���0∀∋ 
∀�%�!�� ∃∃ ∃&∀&�

���21��������������������

∀��∀ ∋∃&�∀!!−�∀∋&∃��∋∀�&
�

�����6���	���	��/���������
	
�

�����6���	��	����������	���
�

�����6���	�������
�

�����6���	���	��/�������	��	����	���������������	
������
Α�����
��	�	�����	�	�����	�����	

∀��∀ ∋∃&�%∀��!∀� ∃∀(( (∀&∋�
∀������������
�����66�6���	�����−)∃) )�	��	����	���
��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗<����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�����������������=�������
��	�	�����	�	�����	�����	

∀��∀ ∋∃&�
�∃����% ∃∀
��

	/��	�������	��	��	��	�	�����
��	�	�����	�	�����	�����	

∀��∀ ∋∃&�%∀��∀�−
�(( 
�����������������	66�
��	�	�����	�	�����	�����	

∀��∀ ∋∃&�1&∃&5&!∃ ∀�&
�	/�
	�������
����9	

�=./� 4��∀�
�5����������21�����������31������
����������

��01�
�3������������������

�−
 ∃−
 ��%)���∀�∃�∋∃��∀∋∃�
∋&
�	�
�66�6���	��	
����������	��	���
����������	���������	����	���������	���
����	//����������������������=��	������
�����
��	�	����	�����	

���1������������������������1��

��	�	������������
�

	������	�������������	�����
%	��
�6���	����������	��	�=�
�66���	
����������	���������
��	�����	����������������������/���������	��	�=�
�66���	
��	�	����	�����	

���21�������31������
�

&��
���%∀!∀
�	��
�6�����	���������6����
�����	����	����	����	���
���������	�����	//�����	����	��	
��������������
�����������	����	��	��	���
��	�	����	�����	

 

�%∀�∀∋∃�
∋∀
���	���	���������������

�����6���	
��	�	����	�����	

���21��������������������

∀��∀ ∋∃&�∃�
�∀�&
��	�	�����	�	�����	�����	

∀��∀ ∋∃&�%∀��!∀� ∃∀(( (∀&∋�
∀������������
�����66�6���	�����−)∃) )�	��	����	�����

��	�	�����	�	�����	�����	

∀��∀ ∋∃&�∀!!−�∀∋&∃��∋∀�&
�

�����6���	����	������∆
	�:��
Α�����

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗?����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

��	�	�����	�	�����	�����	

∀��∀ ∋∃&�
�∃����% ∃∀
��

	/��	�������	��	��	��	�	�����
��	�	�����	�	�����	�����	

�=.6� ��������������������

��������5���� �

∋−&5���∀ ∋∃−� (∀&∋∀
��������6��������	��	�6	���=��		
��������6��������	��	�6	���=�����	
�����6���	���������
����������������/�6���	
������	��	���
��	�	����	�����	

���������������������������� �

������	�����	���
��������6�����
��	�	�������	
�����	���6���	�	��	���
��	�	����	�����	

����
�22���������

�%��������������

�����������	���6���	
��������6���	����	��	�6	���=��		
��	�	����	�����	

���������������� �

∀��∀ ∋∃&�%∀�∀!!−�∀∋ (∀&∋�
∀��������������
�������

������
�

�����6���	��	������
�

�����6���	�Υ����6	Υ
��	�	����	�����	

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�∗2����37



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

�>����1�����������3���2��3���

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�3≅����37

�������	
89
�������	
�	�	�
�	�����	�
���������
∃���
����
���
�
(����
��
:��������
	 

#��
������

�������	 
39
 �������	
�	�	�
�	�
�	�
��
�
�����
�� 
 
−���������
∃�������
����	
���	
�	� 

(���
��
:��������



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�3�����37

�������	
;9
�������	
�	�	�
�	�
�	�
��
�
�����
��

−���������
∃�������
	
�������������	
�	�����	� 

�	��� ∋�#�

�
���

�������	
<9
�������	
�	�	�
�	�����	�
�	��� ∋�#�

�
����
�����
��
����	
−����	



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�3+����37

�������	
=9
(�	�������
�	��� ∋�#�

�
���
���
�
��
	�


�������	
>9
(�	�������
�	��� ∋�#�

�
���
���
�
��
����9
��
�����	�
�
�����
��
�	���
��
��
��
���	�	
�	��� 

�#���
4	������



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�3∗����37

�������	 
?9 
−����
�
����	�������
�	��� ∋�#�

�
���� 
 �� 
 
����
��
������

� 
��≅
������� 
 0� 

�	�
��
�	���
��
�1

�������	
Α9
Β��
�����
	�
	���
�	��� ∋�#�

�
���
��
�
�
�
��
���������



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�33����37

�������	
Χ9
Β��
�����
��
	���
�	��� ∋�#�

�
���
��
�
�
�
��
���������



��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�3.����37

�������	
8∆9
∃
�
�
��
����	

�
Ε
6���
	
���

��
���
�	���
#���
4	�����

�������	
889
∃
�
�
��
����	

�
�
−�����
�������	�




��������	
���������
�����	�����	��	

��������������������
	�������������������������	
�������
����������������������������������	��	�����	��


����/
���	��
Μ�∗≅���//���+≅�+

�
����/	�����������������

���9)���	�������
��!��	���

ςςςςςςςςςςςςςςςςςςςςςςςςςςςςςςςς�

���/	����	�	�������;�
	
�6���	��	�������

��������� ����������������� ��/�37����37

�������	
839
∃
�
�
��
����	

�
�
6���
	
�����
��		
	�
	��	
	
���	�


	 1  PREMESSA – LE RICHIESTE DELLA COMMITTENZA
	 2  INQUADRAMENTO STORICO – TERRITORIALE  
	 2.1  Area geografica 
	 2.2  Brevi cenni storici

	 3  DESCRIZIONE DELLO STATO DI FATTO
	 4  REGIME VINCOLISITCO 
	 4.1  Quadro vincolistico del PTPR della Regione Lazio 

	 5  L'ITER PROGETTUALE 
	 6  INDIRIZZI PROGETTUALI
	 6.1  I “segni del progetto” 
	 6.2  Funzioni e accessi
	 6.3  Il punto ristoro e le sue pertinenze
	 6.4  I parcheggi
	 6.5  L’info-point 
	 6.6  La “porta del Parco”, il museo
	 6.7  La “porta del Parco”, la biblioteca ambientale: 
	 6.8  La “porta del Parco”, gli impianti
	 6.9  L'area esterna
	Premessa
	Gli spazi esterni - Linee progettuali 
	Realizzazione aree tematiche 
	La cavea


	 7  DESCRIZIONE  DELLE CATEGORIE DI LAVORI
	 7.1  Porta del parco: lavori di adeguamento e rifunzionalizzazione 
	Riqualificazione dei prospetti
	Adeguamento sismico
	Manutenzione manto di copertura
	Adeguamento funzionale
	Recupero strutture metalliche
	Adeguamento impiantistico

	 7.2  Bar: lavori di adeguamento e rifunzionalizzazione 
	Riqualificazione prospetti	
	Manutenzione manto di copertura
	Adeguamento funzionale

	 7.3  Sistemazione esterna
	Opere a verde
	Aree esterna per didattica	
	Pavimentazioni esterne


	 8  SINTESI DELLE CATEGORIE DEI LAVORI
	 8.1  Porta del Parco. lavori di adeguamento e rifunzionalizzazione 
	 8.2  Bar: lavori di adeguamento e rifunzionalizzazione 
	 8.3  Sistemazione esterna

	 9  DOCUMENTAZIONE FOTOGRAFICA

